CHAPTER TWO

PHONOLOGY

Whereas in most analyses actual utterances are transcribed by the researcher in
phonetic detail in order to provide the data for a subsequent phonemic winnowing, the lack
of native speakers of Wyandot renders this approach impossible. Here, the transcription
system used by Barbeau in various works is the point of departure for a phonemic analysis.

Barbeau's transcription will be discussed first, in terms of which characters are used
and the sounds they represent. This will be followed by the difficulties and problems posed
by the system, and then the phonemic inventory and allophonic instantiations that can be

discerned. Finally, phonemic distribution and alternations will be examined.

2.1 Barbeau's Characters

The following descriptions are taken with little alteration from various Barbeau works,
especially Barbeau (1960:57-58) and (1915a, b). They are presented as Barbeau laid them
out, in the same order and format, with the only additions being a few notes comparing
different descriptions (indented under the main description), and IPA equivalents (on the far
right). Additionally, m and n are placed on separate lines, whereas Barbeau placed them

together.?

"*Barbeau’s terms sonant and palatal correspond to modemn voiced and velar,
respectively.
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VOWELS

a as in English mat, and in French parade [®~a]
Barbeau (1915a) hedges with "a vowel closely resembling those in"
e as in French ¢ - English a in cave [e~¢]
€ as in French ¢ - English ¢ in pet [€]
i as in French i - English i in fit fi~1)
u as in French ou, - English o in lose fu~u"]
NASALIZED VOWELS
@, £, | (rare), the g, e, i above vowels nasalized:
2 as in the French marchand [@]
£ as in the French in, in vin [E]
Q the open o nasalized as in French bon [3)
SEMIVOWELS
w as in the English wine [w]
y as in the English yes (]
CONSONANTS
c as in the English she, - French char N
j as in the French jamais followed by a brief y (3]
Barbeau (1915a) hedges, with "closely resembling that of French
Jamais", and adding that the y is very brief
s as in the English sit [s]
t as ¢ with a slight aspiration [t~t"
Barbeau (1915a) states "approximately as in English and French"
Barbeau (1949) also indicates "followed by a slight aspiration"
d as in done, often preceded by a weak " [t~d~"d]
Barbeau (1915a) hedges with "approximately"
Barbeau (1915b) refers to a "weak n"
k as in key (k~k'~c~ch
Barbeau (1915a) states "approximately as in English"
g the sonant g followed by a y, often preceded by a weak " [@~9~~1)
Barbeau (1915a) uses gy, with a "preceding weak "
Barbeau (1915b) also uses gy, described as "sonant g immediately
followed by y, often with a preceding weak ?, palatalized ng of English
sing"
k k followed by y [K~k¥i~c~c
Barbeau (1915a, b) instead use ky
m and [m]
n as in English and French [n~n]
fi as the /i in Spanish; the gn in Italian (nl
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r
r

h

corresponding to the English r [4]
Barbeau (1915b) hedges with "roughly"

rare; deep palatal, tending to disappear [unknown])
Barbeau (1915a, b) lack this character
aspiration always followed by a vowel [h)

Superior letters indicate very brief, and sometimes unvoiced consonants and vowels,

DIACRITIC
)

(

4

as in "datra’ *skwij’" 'di

AL MARKS
glottal stop or catch as in "ga’*wic M
breathing after a vowel and before a consonant as in atcgk fh]

over a vowel shows the main stress or accent in a word; it usually corresponds
to a rising pitch of the voice
Barbeau (1915b) refers to this as "high pitch"
minor or weaker accent
Barbeau (1915a) uses "secondary”
a raised period after a vowel indicates that it is long, as in y¢-te’
over a vowel makes it brief: t&hat

Unmarked vowels are of medium length. Two consecutive brief vowels may be

combined into one main accent: £
aréhg’

Barbeau also uses some additional characters which will be described below. The "superior

letters” refer primarily to ", which usually appears before d or after a nasal vowel, as well as

to vowels repeated after glottal stop, j.e.’ ® ¢ ¢ @ # ° ¢ u

Barbeau (1915a:25, footnote 3) further describes <t k>' as "unaspirated surds",

which expressly contrasts with the description of <t> as having a "slight aspiration”.

Additional characters not mentioned but used include:

"Angled brackets <X> will be used for Barbeau's transcription as an orthography,
with square brackets [X] reserved for phonetic interpretations thereof. Slashes /X/ will be
used for phonemicizations.

25



in Barbeau (1915a), appearing in the environment oy
apparently " assimilating to a velar environment"*
" in Barbeau (1915b), appearing in the environment gy
apparently " assimilating to a velar environment
¢ rarely used, in Barbeau (1960)
presumably equivalent to Cy, on the analogy k:k::c:.c
rarely used, in Barbeau (1960)
presumably equivalent to hy
rarely used, in Barbeau (1960)
rarely used, in Barbeau (1960)
rarely used, in Barbeau (1960)
rarely used, in Barbeau (1960)
rarely used, in Barbeau (1960)'*

=

<t N e o< o

In general the different descriptions of the symbols used are in agreement with each
other, differing mostly in the amount of hedging Barbeau used in comparing Wyandot sounds
to similar sounds in other languages. The use of different symbols in different works can be
ascribed to the demands of typesetting. Barbeau (1960) and Barbeau (n.d.) are both
handwritten. In published articles, e.g. Barbeau (1915a,b), Barbeau would use ky for
typesetters unable to create k, while for those unable to print & he would use €, and so on. '
Unfortunately, although his handwriting is mostly clear, there can be difficulty in

[ 4

distinguishing ., *, *, and * from each other.

“Note this use of * as velar, while fi is described as palatal.
"*The character <p> also appears, but only in kﬁpi, a call for horses.

‘*Among Barbeau's personal correspondence can be found some letters describing
possible procedures for photographic reproduction of his handwritten texts and dictionary,
as means of avoiding the difficulties of typesetting. Fortunately, modem electronic
typography can render such problems nearly moot.
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As for the use of the under-arc _ as a diacritic, Boas e al. (1917:10-11) state that it
"is regularly used to indicate a point of articulation in front of the standard one adopted for
the sound indicated by the simple character.” That is, since K is velar (in modern terms), k
is palatal. Thus, ¢ and h should indicate fronted versions of ¢ and h.

It is not clear what r as a "deep palatal” might be. Replacing palatal with velar to
modernize the term is not especially helpful, as deep velar is not clear either. However, Boas
et al. (1917:13) refer to r as "cerebral”, i.e. retroflex. Whether this is Barbeau's intention is
unknown. It should be pointed out that the 19th century phonetician Samuel Haldeman, in
doing field work on Wyandot, described r as "the smooth English sound, never vibrant"
(Haldeman 1847:269).

Difficulties in ascertaining the phonetic nature of the Barbeau characters are readily
apparent. For instance, vowels are often described as similar to phonemic equivalents in
French and English, even though French and English vowels are often quite different
phonetically. The offglides on English [e' u*] do not appear on French [e u], for one example.
For another, although beginning students of French, if they are native speakers of English,
may often perceive French [a] as [z], the two are phonetically distinct. Although the nasal
vowels are described as nasalized versions of the oral vowels, the descriptions of oral <a> as

[= ~a] do not correspond to the description of nasal <g> as [&]."”

""The descriptions are less inconsistent if Barbeau was referring to his own Québecois
speech rather than a European standard. Around 1911 he recorded Prosper Vincent singing
Wendat songs at Lorette, Quebec. At the beginning of each recording is a brief identification
in French, presumably by Barbeau. The pronunciation given of Vincent uses the nasal vowels
[€ &), as opposed to [§ &).
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Orthographic renderings here will follow whatever transcription variant is used in the
original source. The single exception involves a shared "accent" of the type indicated under

"Diacritical Marks" above by:
A
(9) urgh@

Note that in the original there is but a single acute accent mark, which is placed above an arc
- linking the two breves ~ . Here such linked accent marks, as well as accents placed over
an intervocalic consonant, will be represented by separate equivalent marks over both vowels
concerned. Thus, in the example of flréha’ the single acute and linking sign have been
replaced by two acutes.

There are several difficulties in using Barbeau's orthographic system, one of which is
the use of non-standard characters. For instance, <k> represents the string Ky, while <& and
<> stand for h and 7. This is problematic for reasons of interpretation, in that there is no
accepted standard for the characters, as there is for the IPA, for instance. Furthermore, <&
and <> can be difficult to distinguish in handwriting. Typographically, obscure symbols are
harder to access for publication purposes. A further difficulty as that there is an abundance
of stackable diacritics reducing ease of reading. Barbeau's orthography makes more sense in
light of the dates of his fieldwork, centering around 1912."® However, this does not explain

why Barbeau retained the system in publishing Barbeau ( 1960).

"*When, for example, uvulars were called velars, velars were called palatals, and
palatals were called prepalatals. Hence, Barbeau's description of D as palatal.
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Two more characteristics of the Barbeau system are over-differentiation and under-
differentiation in the characters used. Over-differentiation is only problematic in that the
transcription is cluttered and awkward (and is in fact useful for discovering allophonic
variation). On the other hand, under-differentiation is a problem, since some contrastive

distinctions may be lost.

2.2 Over-differentiation

It is clear from only a few examples that the system employed by Barbeau is over-
differentiated in certain respects. The same word may appear with several different patterns
of length, stress and nasalization, as in chart 5. Recall that the diacritic , indicates
nasalization, * main accent, * minor accent, and ~ shortness. These diacritic patterns are

shown in the rightmost column apart from the letters, to make them more readily apparent.
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a.  ahteha’ 'he said' TN:28:251:40"

b. ahgha¢’ 'he said’ TN:12:113:18

c.  ahgh&Q’ ‘he said' TN:01:062:20; TN:02:063:36 .
d.  &h¢had’ 'he said' TN:12:114:15 .
e.  &hgha¢’ he said' TN:01:060:09 .
f.  ahg"ha@ 'he said' TN:01:060:03 L
g.  ahgha¢’ he said' TN:20:145:46; etc ..
h.  &hghag’ 'he said' TN:17:132:14; TN:28:246:41 e
I &hEhE¢’ he said’ TN:02:068:03a i
j. ahEh4g 'he said’ TN:18:133:30 Tee
k. ahthad® he said' TN:12:114:58; TN:20:147:01; TN:24:190:03 s
L ahghaq’ 'he said' TN:15:125:28 et
m.  ahgha’ 'he said' TN:28:246:18; etc cer
n.  ahth3gQ’ 'he said' TN:02:068:12; etc ...
0.  ahghad 'he said’ TN:20:146:28 Ceee
p.  ahghad’ 'he said' TN:28:245:56; etc T er
q.  &htha¢® 'he said' TN:02:064:31 Teee
r.  &hEh@Q he said’ TN:02:064:48; etc

Examples are in one of two formats. These examples, in the shorter format:
ahthd¢ 'he said' TN:02:068:03 .
list first the original transcription by Barbeau ahth@@, the gloss 'he said', and the source code
TN:02:068:03. The longer format will be described when it appears.
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5. ahgh3@’ 'he said' TN:12:113:11 D00

[

t.  ahthd@ 'he said TN:24:194:11 ’

[N 3

u.  §htha¢Q 'he said’ TN:29:259:44

L

Chart 5: Non-contrasting Patterns of Length, Stress and Nasalization

Each of these shows a different pattern of diacritics.

In the examples in chart 5 all but one of the forms have final nasalization and stress
<¢>. In example (j), the final <Q> remains nasalized, though unstressed. However, every
other vowel differs. Nine examples (d, e, h, i, I, p-s) have a short initial <4>, while another
nine (a-c, f, g, j, k, m, n) have an <a> of normal length. One (o) has an initial <3> with
secondary stress. In the other two examples (t, u), with nasalized initials, one is short <3>
and the other regular length <a>.

In five examples (a, b, d, g, h) the penultimate vowel is plain <a>, in three versions
(c, e, f) a short <&>, in six (k-m, 0-q) a nasal <@>, in another six (i, n, r-u) a short nasal <3>,
and in one (j) a stressed nasal <§>.

In ten versions (b-¢, k, n, q, r, t, u) the antepenult is nasalized with secondary stress
<g>, and in one (i) it is short with secondary stress, and no nasalization <¢>. In one (a)itis
oral, without stress or shortness <¢>, and another (i_) oral and short <€>. Insix (g, h, I, m,
0, p) there is a plain nasal <¢>, and one (s) a short nasal <¢>. And in the remaining example
(f) it is nasalized with secondary stress as well as being followed by a nasal <¢">.

Vowels may also appear in different qualities, which do not contrast:
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(10) a@*wé-h@’ 'she thought' TN:04:082:24; TN:17:131:27

@*wé*hQ’ 'she thought' TN:01:059:14; TN:04:079:41
In example 10 the penultimate vowel is <e>, but in the second <¢>, although this distinction
in pronunciation does not lead to a distinction in meaning in this instance. In other cases <¢>
alternates with <g>, so that <¢> cannot be seen as simply a variant of <e>. Any
phonemicization of Barbeau's materials must take into consideration that not all of his

characters represent distinct phonemes.

2.3 Under-differentiation

Conversely, the Barbeau transcription system may be under-differentiated in certain
respects. For example, all living Iroquoian languages contrast the simple phonemes /t/ and
/k/ with the clusters /th/ and /kh/.*® However, neither cluster appears in the Barbeau

transcription, with the exception of a small number of occurrences of <t&, including:

(11)  yatsi'rut¢'she stops it' TN:19:138:51
t€%-t'not I mean' (' don't mean ...") TN:28:236:13%

Note that these are both final <t©. Compare the following:

®Usually phonetically realized as [tk] and [t"k"]. These are frequently represented
as <d g> and <t k> in orthographies intended for English-speaking learners. In Iroquoian /th
kh/ are considered clusters rather than aspirated stops due to various rules, including
morpheme boundary phenomena.

!'Glosses in parentheses are renderings of Barbeau's glosses into more colloquial
English.
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(12) yatsi‘rut 'obstruction’ TN:18:133:54
té%'t 'not I mean' ('I don't mean ...") TN:28:237:43

The final aspiration may indicate simply release of the final consonant. Only one non-final
example of <t in Wyandot occurs in Barbeau's texts:

(13) a*watite’t ‘they pound comn’ TN:26:203:25

Although the cognate of 'pound’ in other Iroquoian languages has an aspirated cluster in this
position, e.g. Cayuga -the?t- (Mithun & Henry 1982), other examples of this morpheme in

Wyandot lack the aspiration:

(14)  watité’'t 'they pound corn’ TN:04:078:01

Wendat, the putative ancestor of Wyandot, maintained the distinction between /t k/
and the clusters /th kb, the latter written as < x>. In addition, Wendat had <d g>asin
Wyandot. These are shown with examples from Bruté de Rémur (1800). In 15 both <6> and

<x>, i.e. /th kb/, are shown.

(15) Oo iondesti de yichias ?
‘combien y-a-t-il de temps que tu es ici?'
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The former appears in the first word and the latter in the last. Instances of <t> and <k>

appear in 16:

(16) akesarak¥at
'chaise, siége; pulpit, seat'

One word contains both characters.? The letters <d> and <g> also both appear. An example

of <g>is 17:

(17)  osteng¥arata
'bleu; blue'

The character <d> is demonstrated in 18:

(18) ¥dém

'groseilles; a currant tree'

Either Barbeau's transcription system fails to represent the distinction between /t k/
and /th kh/, or Wyandot is the only Iroquoian language to have lost the distinction, merging

all /th/ with /t/ and all /kh/ with /k/.2

“The character ¥ represents <ou> in French orthography, i.e. [w] before vowels and
[u] before consonants.

BThe loss of a/th kb/ versus /t k/ distinction, in the additional presence of <d g,
would make the system more like English.
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The stop correspondences between Barbeau's orthography for Wyandot and cognate

forms in other Iroquoian languages are given in chart 6:

Wyandot (Barbeau) Wendat 5 Nations

0 th

t
t t
X kh

k
k k

d d

d g n

n n

Chart 6: Orthographic Correspondences for Stops

Note that the 5 Nations branch of Northemn Iroquoian has two oral stop series, /th kh/ and
/t k/, while Wyandot, also with two oral orthographic series, has different ones: <t k> and
<d @>.* Wendat however has three orthographic oral stop series, <8 x>, <t k>, and <d

5

&>

*Although Tuscarora also shares the <th kh>and <t k> distinctions, it is left out of
the chart due to complications arising from sound changes where generally *t became ?n, and
*n became t.

BWyandot <d g n> are all descended from *n. Generally, before a glide and an oral
vowel *n became <g>. Before a nasal vowel (with an optional intervening glide) *n remained
<n>. Before an oral vowel *n became <d>. However, both <d> and <n> can appear outside
of the historically conditioning environments, and so are not treated as allophones. Cf.
sections 2.5 Consonant Allophones, 2.8 Comparative Perspective on Consonants, 2.9
Further Notes on d, and 2.10 Further Notes on g.
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Since English-based orthographies for Iroquoian languages use <d g> to represent /t
k/ and <t k> to represent /th kb, it may be argued that the presence of both <d @> and <t
k> in Barbeau's orthography indicates this distinction. Thus, no examples of <t¢ k® should
be found, as these sounds are represented already by the simple stops <t k>. The influence

of English on Iroquoian orthographies is shown below:

Phone " Iroquoian English-speaker English-based
Phonemicization Interpretation Orthography

t* th t t

k" kh k k

t t d d

k k g g

Chart 7: Alternative Representations of Oral Stops

Note in chart 7 how an English speaker would interpret and transcribe the aspirated versus
unaspirated stops. An English-based orthography would include <d £>, just as Barbeau
includes <d g>.

However, this hypothesis is disproven by the fact that Barbeau's <d> is not cognate
with /t/ in the other Iroquoian languages. Rather, it is cognate with /i/. Compare the

following words for 'bread' in Cayuga (Mithun & Henry 1982) and Wyandot:
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(19) o-nd?ta:=? 'bread®
di-da’*tar-a’ 'the bread' TN:04:084:26
In this example the Cayuga root has both /1/ and /t/. The Wyandot cognate has <d> instead

of <n>, but uses <t> in the same position as Cayuga. The same Cayuga word in an English-

based orthography appears as (Kick et al 1988):

(20) ond?da:? 'bread'

Note here that the Cayuga /t/ is written as <t> in 19, but <d> in 20. However, the phone
written variously as <t> or <d> in Cayuga is written <t> in the Wyandot cognate, while the
Wyandot <d> is <n> in both Cayuga orthographies.

Therefore Barbeau did not interpret unaspirated [t] as an English speaker would, as
<d>, and thus Barbeau's <t> does not automatically correspond to just /th/.

By the same token, <k> and <g@> are not simple English-biased misrepresentations of
(kh] and [k], as <g> is an allophone of /d/ and thus also cognate with /n/ (see discussion
under 2.5 Consonant Allophones).

Having shown that <d g@> are not cognate with /t k/ it remains to be shown that <t
k> can be cognate with either /t k/ or /th kh/ in other Iroquoian languages. Compare the

following Wyandot forms and Cayuga (Mithun & Henry 1982) cognates:

*Hyphens are used to separate strings, whether morphological in nature or not, that
address the point in question. A full morphological breakdown is not always supplied in this
chapter.
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(21) a Wyandot:
&-hati-'crd"ga’ 'they make' TN:07:100:40

b. Cayuga:
hati-?trehtq:nihs 'mechanics (males)'(lit. 'they make cars')
In 21 the pronominal prefix appears in both languages as =Aati-, with Wyandot <t> in 21a
corresponding to Cayuga /t/ in 21b. However, <t> can also be found where related languages

have /th/:

(22) a. Wyandot:
taha-ra-tg - 'there he climbed up' TN:29:258:62

b. Cayuga:
tat-ra:the-h 'climb up here!"
Wyandot =rafg= in 22a corresponds to Cayuga =rathe=- in 22b. With this root, then,
Wyandot <t> corresponds to /th/.
Wyandot <k> can be cognate with /k/ or /klV in related languages, as shown with

examples from Mohawk (G. Michelson 1973).

(23) a. Wyandot:
nahu-gak -a’ 'he got married’ TN:18:134:45-46

b. Mohawk:
wakeé-nyak~s 'l get married'
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The <k> of Wyandot —gak - 'marry' in 23a corresponds to /k/ in Mohawk -nyak-'get
married' in 23b (cf. discussion following example 26). Conversely, Wyandot <k> of

=Isike’t='sugar' in 24a corresponds to Mohawk /kl/, as in =tsikhe?t- 'sugar’ in 24b:

24) a. Wyandot:
du~-tsike’*t-a’ 'the sugar lump' TN:14:123:30-31

b. Mohawk:
o=tsikhé:t-a 'sugar
Note the /kl/ cluster in Mohawk, but the simple <k> in Wyandot.
Furthermore, Barbeau fails to write <h> across morpheme boundaries after <t>. That

is, when a morpheme beginning in <h> follows one ending in <t>, the <h> disappears.

(25) a. tusa—h=&ratat there again he runs' (he runs there again’) TN:28:243:38-40

b. a’*t-ara%at 'he runs' TN:19:138:53

In 25a the masculine singular =/=- appears with the verb —ara?- 'Tun’, after <a>.
However, in 25b the same verb with the same pronoun lacks an overt <h> after <t>.

The status of <h>-initial morphemes after <k>-final ones is more complicated, due
to historical changes whereby generally *k became y unless "protected" by an adjacent

consonant.
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Proto-phones Modern reflexes
‘k y
*Ck Ok

Chart 8: Development of *k

Several exceptions to this pattern have been left out of chart 8. Asa general rule, intervocalic
and prevocalic *k became y, while *k after another consonant remained k. As previously
noted, the verb 'marry / get married' in cognate languages is -nyak=(G. Michelson 1973 for
Mohawk, Mithun & Henry 1982 for Cayuga). The following example shows three forms of

this verb in Wyandot, in the three basic aspects (which are treated in chapter 5: Verb Base):

(26) a. dyé- - "ga" "I married' TN:02:067:25
b. détagu - "gas 'that they get married’ TN:07:098:45

c. Usahuti - "ga’ka’ 'they (2) married' TN:02:071:12

The Wyandot root is - gay =/ - "gak~-. In26a ther;e is no overt suffix (the <y> being
written as <5), in 26b, <s> (the resultant <ys> cluster is reduced to just <s>). In 26c,
however, there is <k> instead of <y>, before an <a”> suffix. Retention of *k implies the
historical presence of another consonant (see section 2.15 Further Notes on y). In this case,
the cognate suffix in other Northern Iroquoian languages (the Punctual - see section 5.4.3)
has an allomorph =422 Thus it can be inferred that the Wyandot suffix was originally also
~ha’. A combination of the morpheme - gay- 'marry’ with a following morpheme that is

<h>-initial results in <k>. It can be argued that <k>, here, must represent an aspirated cluster
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/kl/ since if the <k> did not occur next to a consonant, it would be <y>. On the other hand,
it could be argued that <k> was retained historically for this reason, but that since then the
aspiration has been lost.

To summarize, Barbeau's <t> corresponds to both /t/ and /th/ in cognate languages.
Barbeau's <k> corresponds to both /k/ and /kk/ in cognate languages. English speakers
interpret general Iroquoian /t k/ as <d g>, and Iroquoian /th kb/as <tk>. However, this is
not evidence that Barbeau's orthography is English-based, since his <d g n> are all cognate
with /o/ in general Iroquoian. Thus it is not clear whether Wyandot has reduced all obstruent
+ A clusters to just the obstruent, or whether Barbeau's transcription is deficient.

Two possible ways to ascertain whether there has been phonological change or
whether this is a case of orthographic deficiency are to examine Barbeau's transcriptions of
other Iroquoian languages, and to check others' transcriptions of Wyandot. Unfortunately,
Barbeau's examples from other languages are ambiguous. The following examples are from
Barbeau (1959), with equivalents from Cayuga (Mithun & Henry 1982) and Mohawk (G.

Michelson 1973). The English gloss refers to the entry in Barbeau (1959).

(27) Nt/ as <t> 'feet’
ohsi?ta? (Cayuga)
Wulsicta’

(28) /t/ as <d> 'feet'

ohsizta (Mohawk)
JolsiPdde
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(29) /th/ as <t> 'that one'
thitky (Mohawk)”
ti-ga.

(30) /th/ as <t 'cold’
yothd:re (Mohawk)
yuté-re?

(1) /k/ as <k> 'nails’

akitkete? (Mohawk)
agatkéde’

32) /K as<g>'arm'
khnetshd ?keh (Cayuga)
kngts@ge

(33) /kh/ as <k>'my child'
kheya:?a (Mohawk)

(34) /kh/ as <k® 'bread'

sate:kh¢:nih (Cayuga)

k-ni¢

As can be seen from these examples, Barbeau writes the simple stops /t k/ in other
Iroquoian languages as both <t k>and <d g>. Additionally, he writes the aspirated clusters
/th ki/ as both <t k> and <t¢ k®.

Ascertaining the status of aspiration and stops in Wyandot using the transcriptions of
other researchers is also problematic. For the most part these are of poor quality, although

there may be indications that aspirated clusters and unaspirated stops did indeed fall together:

#'For ease in comparison across languages, certain redundant information has been
added to examples from other languages. In particular, nasalization has been indicated on ]
and 4 in Mohawk and Oneida, and 4 has been used instead of v.
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(35 a kiarascooa 'we set off, thou and I

b. u-stkaraskwa’® 'back let us go' ('let's go back’) TN:19:137:53

Here 35a, from Gallatin (1848:cxxx), shows the first person inclusive dual agent =k - written
as <ki>. The second example, 35b, shows an equivalent form by Barbeau. Since Gallatin
used <ki> rather than <gi>, the stop may have been aspirated like in English. Unfortunately,
many early recordings of Iroquoian languages use English voiceless stops where the Iroquoian
languages have unaspirated stops, as shown by the neuter agent prefix =ka- in many place-
names: Canajoharie, Canandaigua, Cattaraugus, Caughnawaga, etc. The loss of Connelley's
dictionary (section 1.1 History of Wyandot Linguistics) is especially regrettable in that
Connelley apparently had both a good ear and a consistent transcription system.

If Wyandot did collapse unaspirated stops and aspirated clusters, then there would be
resultant ambiguous forms, as in examples 25a and 25b where the masculine singular agent,
—h=, disappears in Barbeau's orthography. Some pronominal prefixes contrast solely due
to <h>, such as =/ = masculine singular patient and = - feminine-zoic singular patient;
=hi= masculine dual agent and =/- non-masculine dual agent. For other pairs see the

pronominal prefix charts in chapter 3: Pronominal Prefixes.
2.4 Consonants

This section details the inventory of consonant phonemes in Wyandot, their

distribution, and their allophones.
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The symbols used for consonants by Barbeau are <t "t k "k k%>d'dg"g

js*cechhmn""fArr w¥yvy> These are displayed in the following

table:
labial  alveolar palatal velar glottal
voiceless stop t k k )
prenasalized voiceless stop " % )
voiced stop d g
prenasalized voiced stop d g
voiceless fricative s'® c Ch
voiced fricative j
nasal m n* f 0
rhotic r'
glide w v y'y

Chart 9: Barbeau Consonant Characters

Because their place of articulation is unclear, the voiceless fricatives ¢ and h and the rhotic
r have been left out. They will be described in more detail below. The term "alveolar” for the
second column is used here with the caveat that Barbeau was not explicit in his description
of the place of articulation of this series. These are described as both like English, and thus
alveolar, and also like French, and thus dental. For convenience, this place of articulation will
be referred to as "alveolar"; however, these consonants may be dental, or may vary between
both alveolar and dental areas.

Some of these symbols are treated here as digraphs because they are either described

as a sequence of sounds, written as multiple characters in printed works, or both:



(36) <dk>=<ky>
<g> =<gy>
<¢> = <cy>
<h>=<hy>
<fi>= <ny>

This variety of consonant signs can be reduced to a much smaller set of consonant phonemes,

as arrayed in the following chart:

labial  alveolar palatal  velar glottal

voiceless stop t k ?
voiced stop d

voiceless fricative s § h
voiced fricative z

nasal (m)

rhotic r

glide w y

Chart 10: Wyandot Consonant Phonemes

The first series, /t k 7/, are voiceless stops. Although described by Barbeau as both
unaspirated and aspirated, the voiceless stop series is treated as unaspirated here since
Barbeau's transcription system fails to differentiate between /t k/ and /th kb/. The voiced
stop series consists solely of /d/. There are three voiceless fricatives, /s § b/. The single
voiced fricative is /2. The nasals are /m /. (m) s placed in parentheses since in almost all
cases it can be shown to be an allophone of /w/. See section 2.5 Consonant Allophones, and
example 48. Because there are a small number of unexplained <m>, however, it is included

as a marginal phoneme. The single rhotic is /t/. There are two glides, /w y/.
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The labial category consists only of /w/. The alveolar series is the most developed,
with voiced, voiceless, and nasal stops, as well as a voiceless fricative and a rhotic. The
palatal series lacks stops, consisting solely of fricatives and a glide. There is one velar, /k/,
while the glottal series contains a stop and a fricative.

An unusual feature of this system is that there is a single voiced stop, /d/, contrasting
with a voiceless stop /t/. Since /k/ has no voiced counterpart, there is a gap in the system.
Another unusual feature is the presence of a voiced fricative /Z. Furthermore, no other
Iroquoian language has a voicing distinction, leaving Wyandot unique within Iroquoian. This
particular fricative is also unusual cross-linguistically, in that there is a /& ¥ contrast without

a corresponding /s 2/ contrast.

2.5 Consonant Allophones

Some phonemes have allophones distinct enough to have been recorded by Barbeau.
This section discusses those allophones that can be discerned from his transcription. Strings
of phones under discussion in the allophone sections, whether forming a morpheme or not,
will be separated by parentheses in the Barbeau transcription line.

There is free variation between [d] and ["d], as shown in 37:
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G M~rdE
a. tay&(m¢-d)irgha’
tayewg:diir¢ha?
taye=wed-urg=-ha?
2,sg:1,sg-voice-find-IMP
'thou my desire findest out' (find out what I want')
TN:04:088:18

b.  &ha(mg "d)irfhg’
ahaw¢:dvir¢ha?
a=ha-wed-urg-ha?
FACT-MASC,sg,AGT-voice-find-PUNC
'he her desire finds out' ('he found out what she wants')
TN:04:088:47

Note that the final phoneme of the morpheme ~mg+d~'word' (phonemically =wegd-) appears
as <d> in 37a, and <"d> in 37b.

The same variation holds for [g] and ["g], which are allophones of /d/ before glides:

®These examples are in a longer format than earlier examples, with the following
structure.

tayémi-diirtha

tayewg:duréha?

taye=wed-urg-ha?

2,sg:1,sg-voice-find-IMP

‘thou my desire findest out'

TN:04:088:18
First is the original transcription, followed by the phonemicization, then the morphological
breakdown, followed by the morphological glosses, then a gloss for the whole word, and
finally the source code. Lines may be left out when not pertinent.
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G8) [@~0g
a. ahi-(gaha)
ahi:dydha
a-hi-dya-ha
FACT-MASC,dl,AGT-eat-PUNC
‘they (2) eat'
TN:04:081:34

b.  &hati("gaha-)
ahatidydha:
a-hati-dya-ha
FACT-MASC,pl,AGT-eat-PUNC

'(for) them to eat'
TN:03:076:28

Note that the initial phoneme of -dya - 'eat’ appears as <g> in 38a, and <"g> in 38b.
The status of [g] and ["g] as allophones of /d/ is an extension of another rule found

in Wyandot, as well as Cayuga and some Mohawk dialects, alternating t and k (see section

2.14 Phonemic Alternations):®

(39 W=k/_y Wyandot, Cayuga, some Mohawk
d/=g/ y Wyandot

Otherwise, *<dy> does not occur, and [9] only appears before glides. (<gw> does occur,

but will be discussed later. See 2.10 Further Notes on Q).

This rule will be modified in section 2.15 Further Notes on y.
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(40) /d/=[g)/_y

a.

nahati(cro-"g)a’

nahatih$rg:dya?

n-a-hati=hirody-a?
TEMP-FACT-MASC,pl,AGT-make-PUNC
'now they made'

TN:37:293:05-06

hati(‘crg"diy

hutih3rodi?

huti=-h$rodi=?
MASC,pl,PAT-make-STAT
'they had made'
TN:37:293:59

Note that in these different inflections, the form for 'make', ~hsrody=/ -hsrpdi- (~Crog-

/ =%crodi=), altemates between /di/, written <di>, and /dy/, written <g>¥

Barbeau refers to the "deep palatal” <r>. This is an allophone of /t/ before /W, as in

the following examples:

@) n/=[f/ h

a.

d@-(rh)gh@’

da?i:rheha?

d-a?=ue-rh¢-ha?
PART-FACT-FEM.ZOIC,sg,PAT-day-PUNC
'the next day'

TN:04:088:05

“See also section 2.15 Further Notes on'y.
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b. diya-(rh)
diya:rhi?
di=yaerhi=?
PART-FEM.ZOIC,sg, AGT-tree-NOUN?!
'that tree'
TN:03:074:28

Unfortunately, the exact phonetic nature of this "deep palatal, tending to disappear” is

unknown. An example where r disappears is:

(42) v/ =@/ _h (optionally)
a. diya:(h)?
diya:hi?
di=ya-rhi-?
PART-FEM.ZOIC,sg, AGT-tree-NOUN
‘around the tree’'
TN:03:075:43

b. diya(rh)P
diyarhi?
di=ya-rhi-?
PART-FEM.ZOIC,sg, AGT-tree-NOUN
‘around the tree'
TN:03:075:34-35

Here the r is present in the second example (as r), but missing in the first. This can also

happen after §:

*Although a noun root, =rhi- 'tree’ anomalously takes some verbal prefixes. See
chapter 4: Prepronominal Prefixes and chapter 6: Nouns.
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43) h/—@/§ - (optionally)
a. ahati(c)o-ga’
ahdti:¥¢:dya?
a=hati=hSrodi-a?
FACT-MASC,pl,AGT-make-PUNC
'they (are) to make' ('they made')
TN:07:099:48

b. ahati-(cr)9"ga’
ahati:Srgdya?
a-hati-h3rqdi-a?
FACT-MASC,pl, AGT-make-PUNC
'they make'
TN:07:100:40

Examples can also occur where the /t/ seems to have been written afterwards:

(44) d@4(")hghg’
dairh¢ha?
d-a?=u-rh¢-ha?
PART-FACT-FEM.ZOIC,sg,PAT-day-PUNC
'the next moming'
TN:28:254:20-21

The superscript * appears to have been a correction or afterthought.
The labiovelar glide /w/ has an allophone [m] in the vicinity of a nasal vowel, with an

optional intervening glottal stop /2.
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45 /w/=[m]/ LY
aha(mg¢) "durgha’
ahawg:diiré¢ha?
a-ha-wed-urg~-ha?
FACT-MASC,sg,AGT-voice-find-PUNC
'he her desire finds out' ('he found out what she wants')
TN:04:088:47

Note that here /w/ is anticipatorily (or regressively) nasalized to [m] before a nasal vowel,

/¢/. This nasalization can also be perseverative (or progressive), affecting a /w/ following a

nasal vowel.

46) /w/=[m])/y_
ah(om)acda-Q’
ahQwaedd:q?
a=hqwa-Yeda-q?
FACT-3,non.sg:MASC,sg-catch-PUNC
'they him get hold of ('they got hold of him'")
TN:27:232:09

In this example /w/ becomes [m] due to the preceding /q/. This nasalization may also occur

when a glottal stop occurs between the nasal vowel and /w/.
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@47) ~=[m]/Y?_

ahadyoii(¢’m)a‘cg "dré-

ahayqnyqQ?wah3edré:

a-hayQ-nyq?wah3e-dre

FACT-MASC,sg:MASC,non.sg-bill-tie PUNC3

'he their bills tied up’ (he tied their bills up)

TN:11:110:16
Nasalization in this example occurs despite the intervening glottal stop. There are a small
number of <m>s that do not occur in the environment of a nasal segment. Often, a nearby
segment is nasal, but not indicated as such. However, the <m> can be seen to still be /w/
when those forms are compared to other examples of the same form, or to other members of
the same paradigm.

Those rare cases of <m> which cannot yet be shown to be due to nasalization of /w/

will be indicated in the phonemicization as /my/.

(48) m3ha‘cang-
mghahSang:
'most so' (‘very much’)
TN:02:064:05
In this example there is an initial <m> preceding a nasal <3>. Since there is no *3 phoneme,

it is unclear how <m> arises, unless nasalization spread across the entire word from the last

vowel /g/, skipping the penultimate vowel, and nasalizing initial /w/. -

Although aspect suffixes normally have their own morphological slot (see chapter
5: Verb Stem Elements), occasionally no overt suffix appears. In such cases the aspect is

treated as fused with the verb. An altemative is to postulate a@ suffix. No theoretical stance
is intended by this choice.
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2.6 Phonemic Consonant Distribution

The following chart lists the consonant phonemes and the environments in which they
occur. The top row indicates the phoneme in question, while the left column gives the
various environments. Pluses indicate the occurrence of that phoneme in that environment,
while minuses indicate non-occurrence. Note that stop + h clusters, although presumably

present from comparative evidence, are not indicated.
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t d § n r | w y
#a + + + + o+ o+
#e + + + + o+ o+ +
#e + + + + + 4+ +
#i + + + + + ] - | &
# 9 + + + + + | - +
#_u + + + + O+ o+
#t - - - - - - -
#k - - - - - . .
[#.? - - - - - . -
#d - - - - - . .
#s + - - - - - -
#§ - - - - - . .
# h - - - - - . .
# 7 - - - - - . .
#n - - - - - . -
#r + ) + - - . .
#w - - - - - . -
#y - + - + | - - -
\AY% + + + + o+ 4+ +
a# + - + - 1] - +
e # + - - - - . +
¢ # + - - - - - .
i# + - + - - - -
Q# + - - - - . -
u_# + - + - - - -
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Chart 11: Consonant Environments

Pluses in parentheses indicate marginal clusters that occur either in a single example

or very few.

The status of initial #yi is weak. It occurs only in a particular exclamation, occurring

at the end of texts.

(49) yihé<
yihéh
'Yihae!'

TN:06:098:26; TN:20:150:15
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Aside from this interjection, there are no examples of initial fyi/. It should be noted that
although this exclamation appears at the end of texts, Barbeau (1960:2) describes it as used

at the beginnings of texts. Initial #wu also only occurs in an exclamation:

(50) wu¢
with
'wuh!'
TN:22:167:35; TN:23:173:33

These marginally occurring environments are indicated by (+).

2.7 Consonant Clusters

Wyandot consonants may appear in clusters. Initial clusters can be up to three
consonants long, medial up to four, and final up to two.

Initial CC clusters include: ts-, tr-, kw=, ky=, dr=, dy=, st-, sk-, Sr=, and ny-.
Additionally, there is a single #CCC, skw-. These are represented in the following table. The

left column gives the first member of the cluster, the top row the second.
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Chart 12: #CC Clusters

Final clusters can consist of two members: -2, =k, =05, =st, =ht, =hk, =hs, =h, and
=rh. Most of these are of the form LO, where L stands for a laryngeal (h, ?) and O stands for
a voiceless obstruent (t, k, s, 3).

There are no CCC# clusters. The following table represents the final two-consonant

clusters, to be read the same way as the preceding table.

Chart 13: CC# Clusters
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Medial clusters can be two, three, or four consonants long. Medial CC clusters
inclucie: =tr=, ~kw=, <ky=, =2t=, «k=, ==, =25=, «?h-, =23=, <2, ~tw=, «2y=, =dr-,
=dy=, =st=, -sk=, =sh=, -¥k=, -3r-, «ht-, <hk=, <hs-, =h$-, =hr-, =ny=, «th=, =y?-, and
-yT=.

The following chart shows the medial CC clusters.

Chart 14: -CC- Clusters

Medial CCC clusters are: =ts=, =2tr=, ~?kw-, ~2ky=, ~2dr-, =2dw=, ~2dy-, -2sk=,
~ny~, =skw=, =sky=, <hts=, ~hkw=, =hky-, =hst=, =hske=, =hSt=, =h3r-, =h3y-, and
=hny-. Most of these can be reduced to the following types: LDG, LSG, skG, and Lts. Here

L stands for either laryngeal (h, 2), D any stop (voiced d, voiceless t k, or nasal n), G a glide
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or rhotic (w, y, r), and S either s or §. The following table shows the medial CCC clusters.

The first two consonants are listed at the left, while the final consonant s listed across the top.

Chart 15: -CCC- Clusters

Medial CCCC clusters are: =2skw-~, =hstr-, =hskw-, and =hsky=-. Note that these
clusters take the form LsTG, where L stands for laryngeal, T for voiceless stop, G for glide

or rhotic. They are also a subset of the possible combinations of CC# and #CC.
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2.8 Comparative Perspective on Consonants
Since the phonemes /d § Z/ do not occur in closely related languages, it is necessary

to show that they are not allophones of other phonemes. These phonemes and their cognates

are shown in the following chart.

Wyandot Northern Iroquoian
n
n
d
s
s
§
z Cy

Chart 16: Special Consonant Correspondences

As can be seen in the chart, both Wyandot /1/ and /d/ are cognate with /n/ in the other
languages. The reflexes of /s/ in Wyandot are /s/ and /%/. The Wyandot phoneme /3/
corresponds to clusters of y after various consonants.

First it will be shown that /d/ and /n/ contrast in Wyandot (see also section 2.9:

Further Notes on d):
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(N

(52)

(53)

(54)

#a

#e

#¢

#Q

da

da

'that; the; who'
TN:05:095:35 etc.

na

na

'now; then'
TN:28:238:14 etc.

déherg¢

deher¢h

'at a great distance’
TN:16:126:24-25

néwa’*%u
newd ?tu

'next time'
TN:02:067:28

di’ka

d¢?ka

'that so' (‘that is what ...")
TN:27:226:58

ngka’

neka?

'hereto’
TN:36:286:51

de’°’ma¢
do?wdh

'this direction’
TN:21:155:18
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b. noma’*de’
nQwa?de?
'this time'
TN:24:193:08

(55) #u
a. du'wéd’
duswa?

‘out of
TN:10:107:12

b. nusahutg: "dute’
nusahutg:dutq?
n-usa-hu-atedutg~?
TEMP-OPT.REP-MASC,sg,PAT-speak-PUNC
'now again he (to) him spoke' ('now he spoke to him again')
TN:28:236:50-51

(56) #y
a. "gare’
dyd:re?
'flrstl
TN:05:092:30

b. figté-ri¢
nyeté:rih
[ny]-Yeteri-h
1,5, AGT-know-STAT
T know’
TN:28:241:48

¢7 Vv.v
a. dayudatagtg-fig
dayudataétg:nyq?
d-ayu-dat-a-Yet=(h)qnyq=?
SUBST-FEM.IND,sg,PAT-camp-JOIN-have-DISTR-STAT

‘that they have their camp several bodies' ('that several of them have a camp')
TN:37:296:54-56
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b. nawang rotP
na?wangé:rgti?
n=a?=-wa=-neroti=2
TEMP-FACT-1,sg,PAT-hunt-PUNC
'when I hunt'
TN:35:284:25-26

Both the phonemes /%/ and /s/ are cognate with /s/ elsewhere in Iroquoian. Here it is

shown that in Wyandot there is a contrast:

(58) #a
a. sahacrg-ga
sahah$rQ:dya
s=a=ha=hirqdi-a
REP-FACT-MASC,sg,AGT-make-PUNC
‘again he builds up'
TN:21:152:42

b. cahaatat
Sahad2tat
Sa-ha~-Ya?t-a=t
COINC-MASC,sg,AGT-body-JOIN-stand.STAT
'same one body' ('the same person')
TN:22:167:44

59) #e
a. sédtica
sea?tih¥a:
se=-Ya?t-ihfa-:
2,5g:FEM.INDEF-body-look.for-IMP
'thou somebody look' ('look for someone’)
TN:27:234:51



(60)

(61)

(62)

# ¢

#0

#u

cékéa'tica’s

Sekea 2tihSahs

Se-t-ye-Ya?t-ihfa-hs

COINC-CISLOC-1,sg, AGT-body-look.for-HAB

T (for) it have been looking’ (T have been looking for it)
TN:27:217:50

sg"diha‘cg’

sedihahSe?

S=g¢=dih-a=h¥-¢?
2,5g,PAT-SEMI-borrow-JOIN-DISLOC-STAT
'thou borrow (it)'

TN:29:261:14

cg"téri¢

Setérih

$-Yeteri=h
2,58,AGT-know-STAT
‘thou knowest'
TN:15:125:50

som@’a
sQwd?
'thyself
TN:27:228:12

conmé(
$Q2wdh
'yonder’
TN:27:218:07

sufiQ: "de>*

sunyQ:dé?

s=(h)u~-nyqde=-?
REP-MASC,sg,PAT-take-STAT

‘back he him brought' (he brought him back’)
TN:19:144:39
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b. cuhdhg ke’
$uhahgkye?
S=u=hah-qkye-?
DISTAL-MASC,sg,PAT-road-travel-STAT
‘away he travels' (he was travelling")
TN:12:112:38-39

63 V.V
a. éségaha
esedydha
e-se=dya=ha
FUT-2,sg,PAT-eat-PUNC
'must thou eat’ ('you must eat')
TN:08:102:21

b.  ecéjate
eSé:%tQ?
e-Se-2atQ-7
FUT-2,sg, AGT-mark-PUNC
'will you mark’ ('you will make a mark')
TN:14:124:07

64) a # .
a. ahw’tatosghas
ahu?tatohs¢has
a=hu=?tatqhs-¢<has
FACT-MASC,sg,PAT-basket-have-BEN.PUNC
'she (before) him basket lays down' (‘she sets the basket down in front of him')
TN:26:203:37

b.  yaga-hac
yadyd:ha¥
ya=dya-ha$
FEM.ZOIC,sg,AGT-eat-HAB
'she eats'
TN:21:152:18; TN:21:152:31
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65) i

(66) h_#
a.

Unlike /n d/or /s §/, /8/ and /¥ are from historically different sources. In general

huti"da’®ré-tsis

hutida ?aré:tsis

huti-da‘?ar-etsi-s
MASC,non.sg,PAT-homn-long-STAT.PL
'their horns are long’

TN:28:241:05

deyagya’*wic

deyadya wi

de-ya-dya?wi§
SUBST-FEM.ZOIC,sg AGT-turtle
'the it turtle’ ('the turtle')

WM:086

hasg-"ga‘s

hasq:dyahs

ha=s=qdi-ahs

MASC,sg, AGT-bowl-make-HAB
'he makes bowls'

TN:28:240:43

ha™drawa‘crandma‘c
ha:?drawahSrangwahs
ha-draw-a-hir-a-nqw-ah$

MASC,sg,AGT-dance-JOIN-NOM-JOIN-fond-HAB
'he (of) dances is fond of (‘he is fond of dancing’)

TN:24:185:27-28

¥

the source for /5/ was *s, while the sources for /Z/ were mostly *ry, *hy, and *ky. However,

due to their phonetic similarity, /3/ and /3/ must still be shown to contrast:
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67) #a
a. ca’kwalstic
$a?kwahstih
§~Ya?t-wahst-ih
2,5g2,AGT-body-good-STAT
'thou art pretty’
TN:04:083:41

b.  jakwalsti
#a?kwahstih
y=-Ya?t-wahst-ih
1,sg,AGT-body-good-STAT
'l am nice'
TN:25:197:16

68) #e
a. cé'he’
$é:he?
§-che-?
2,58,AGT-think-STAT
'thou wantest'
TN:25:195:26

b. jéwa’
Féwa?
'walnut tree'
WD:NR:067

(69 V.V,
ecésjate
edé:Zatg?
e=Se-AatQ=-?
FUT-2,sg,AGT-mark-PUNC
'will you mark' (‘'you will make a mark")
TN:14:124:07

Only one example is given in 69, since both /3/ and /Z/ appear there intervocalically.®

**There are occasional examples where § appears instead of expected 2, and vice versa.
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These three sets of examples show that the unusual phonemes of Wyandot do indeed
contrast with those more common to Iroquoian. This is shown for /d/ in 51-57, for &/ in 58-

66, and for /Z/ in 67-69.

2.9 Further Notes on d

The phonemic status of d is not as clear-cut as with other segments. That is,
arguments can be proposed that 1) d is just an allophone of n, or 2) d and n are in free
variation, or 3) d is phonemic in Wyandot.

The position that d is an allophone of n is based on the historical origin of d, and the
distributional results of that origin in modern Wyandot. Both d and n are reflexes of proto-
Iroquoian *n. Before a nasal vowel *n remained n, while elsewhere *n became d. The

following example shows *n before a nasal vowel in the proto-form:

(70)  'house™
Proto Northern Iroquoian ~ *-nqhs-

Tuscarora =n¢hs-
Wyandot =nQh3-
Mohawk =nyhs~
Oneida -nyhs-
Cayuga -nQhs-
Seneca =nQhs=

4Tuscarora from Rudes (1999), Mohawk from G. Michelson (1973), Oneida from

Christjohn & Hinton (1996), Cayuga from Mithun & Henry (1982), and Seneca from Chafe
(1967).
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Note that Wyandot =nghS- ‘house’ retains n before the nasal vowel Q. The next example is

of *n before an oral vowel:

(71)  'kettle, bucket, pail'
Proto Northern Iroquoian ~ *-pa?ts-

Tuscarora -nafg-
Wyandot -da?ts=-
Mohawk -naftsy-
Oneida -na?tsy-
Cayuga -nats-
Seneca =nQ?tsy=**

Note that Wyandot -da?ts- 'kettle' has d instead of n before the oral vowel a.

A following *y was skipped in determining the nasality of the environment. Thus,
*nyY pattemed like *nY, remaining nyY. Similarly, *nyV patterned like *nV, and became
dyV, transcribed by Barbeau as <g>, i.e. gyV (recall that g is treated here as an allophone of

d before glides). The skipping of *y in retaining nasality is shown before q in 72:

(72)  'squash, pumpkin'

Proto Lake Iroquoian =hnyghs-
Wyandot =nyQhs-

Cayuga =hnyQhs-
Seneca -hnyqhs-

¥Seneca has q instead ofa due to a change whereby a became q after n. This does
not affect the reconstructed form, since the change is recent and can be seen underway in
works of the early to mid-eighteenth century (e.g., Wright 1842).
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Note that although *y is oral, *n did not become d in Wyandot here because the following
vowel is nasal.

In most instances the proto-environment is retained in Wyandot, such that most
instances of Wyandot n occur before a nasal vowel (with optional intervening y), while most
instal;ces of d occur before an oral vowel (with g before y and an oral vowel). Among the
pronominal prefixes can be found pairs that end in either n or d depending on the following

vowel:

(73) a.  hendéhe
hedéhe?
hgd-ehe=?
MASC,pl,AGT-think-STAT
'they wanted'
TN:38:301:42

b. h§ng mé¢
heng:wéh
hen-qwe-h
MASC,pl,AGT-person-STAT
'they (m.) persons'
TN:03:077:13
In 73a the masculine plural agent is ~hgd- before an oral vowel, while in 73b the allomorph
is =h¢n« before a nasal vowel.
Thus, both diachronically and in most synchronic positions, it can be argued that d is
justan allophone of n. The advantage of suchan analysis is that the voicing distinction unique

to Wyandot among all Iroquoian languages is reduced by one phoneme, and alternations such

as =hgd- / =h¢n- can be handled phonologically.
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The second position, that d and n are in free variation, is based on the fact that both

phones can occur outside the environment expected from historical changes, with apparently

no change in meaning. The following example shows such a variation:

(74)

ndi"dawé’°t

nQidawé?t

n-Qi-dawe?t
X-1,dl,PAT-sibling.in.law.STAT

'we two are brothers and sister-in-law’
TN:04:084:23

doj"dawé’*t

doidawé?t

d-gi-dawe?t
X-1,dl,PAT-sibling.in.law.STAT
'we two are brother and sister-in-law’
TN:04:084:14

Note that in 74a n appears before a nasal vowel, as expected from historical changes, while

in 74b d appears in the same position, contrary to diachronic expectations. Furthermore, the

word is glossed the same in both instances.

(75)

A similar pattern appears with these examples of the verb -ihag- 'say'":

dah¢hd@’

dah¢haq?

d-a=hg-ihag-?
PART-FACT-MASC,sg,AGT-say-PUNC
'that he said'

TN:21:157:43-44
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b. nah¢hd¢
nah¢hag
n=a=-h¢-ihag
X-FACT-MASC,sg, AGT-say.PUNC
'that he says'
TN:20:148:67

Note that in this case it is the d which is in the expected environment, while the n is not before
a nasal vowel.

The advantage of considering d and n to be in free variation is that these instances of

the phones appearing to alternate is to be expected.

The third possibility, that d is phonemic, is based on the fact that there are alternations
of forms with d or n, regardless of environment, that maintain a specific semantic distinction.
Forms beginning with d are often glossed with 'the' or 'that’, while forms beginning with n are

often glossed with ‘now’ or 'then’. The following example shows this distinction of form with

distinction of meaning:

(76) a. da’wang roti?
da?wangé:roti?
d-a?-wa-nerqti-?
PART-FACT-1,sg,PAT-hunt-PUNC
'that [ hunt'
TN:35:285:26-27

b. nawang ot
na?wangé:rti?
n=-at=wa~-neroti=?
TEMP-FACT-1,sg,PAT-hunt-PUNC
'when I hunt'
TN:35:284:25-26
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Note that the difference in form is the presence of either initial d or initial n. The remaining

string is a valid word on its own:

(77) a@wangrot?

atwanéroti?

al=wa=ngrqti-?

FACT-1,sg,PAT-hunt-PUNC

T hunt'

WD:VR:142
The difference in meaning added by the difference between d and n is that 76a gains the gloss
'that’ while 76b gains the gloss 'when'. In general, the initial d is either the Partitive (as in
example 76a), or the Substantivizer (see section 4.5.3). Forms beginning with n usually carry
a meaning related to time, glossed as 'now' or 'when'. The n prefix is the Temporal (see
section 4.5.4).

When words demonstrating either n or d without a difference in gloss are put into

context, a temporal versus non-temporal meaning is often found. Placing 75a in context, no

time-related meaning is added:
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(78) ..kdhg himég "géri
kahe huwédyerih
hu=-wedyeri=h
MASC,sg,PAT-willing-STAT
‘there he is content

déhométsgtPac

dehqwe2tsehti?ah

de-h-qwe-2ts¢hti-?ah
SUBST-MASC,sg,AGT-person-young. STAT-DIM
the he is a boy

dahtgh&g’...

dah¢hag?

d-a=-h¢-ihaq-?
PART-FACT-MASC,sg,AGT-say-PUNC
that he said’

The boy agreed to it and said, ...
TN:21:157:40-44

This is consistent with the use of initial d. However, when 75b is taken in context, a temporal

meaning does appear:

(79) .kahatd¢ nahiitt"duty
kahatth  nahitédu:te?
n-a=hu-atedutg-?
TEMP-FACT-MASC,sg,PAT-speak-PUNC
'now there  now he (to) him spoke

nahghag...

nah¢haq

n-a=h¢-ihaq

TEMP-FACT-MASC,sg, AGT-say.PUNC
that he says'

Now the Lion [spoke to the man], saying, ...
- TN:20:148:64-67
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Note that both the preceding words are glossed with 'now’, which also appears in the free

translation in reference to the time of the saying. This is consistent with the use of the

Temporal.

time:

(80)

The same distinction holds true for 74a and 74b. In context, 74b lacks a reference to

..yQ"d&*arawihe’

yoditarawahe?

yQ-da?tar-a-w-a=he=?
1,5¢:2,sg-bread-JOIN-take-JOIN-DISLOC-STAT
'l (to) you bread come to give

dgj"daweé’et tah@ *ra-
doidawé?t tuhj?rg?
d-Qi-dawe?t

SUBST-1,dl,PAT-sibling.in.law.STAT

we two are brother and sister-in-law that is all'

I only came to give you this bread, my cousin-in-law.
TN:04:084:13-16

Note the presence of the Substantivizer d=. On the other hand, 74a in context carries a time-

related meaning:
(81) ..dade kahg nQi"dawé’4t...
dae  kdhe? nQidawé?t
n=Qi-dawe?t
TEMP-1,dl,PAT-sibling.in.law.STAT
'that is the one we two are brothers and sister-in-law'

This is the very one [who is to be] my cousin-in-law.
TN:04:084:21-23
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The reference is to a future state where the relationship will hold, rather than an existing
condition. Note the presence of the Temporal n-.

The advantage of positing d as a phoneme itself is that the difference between the
Partitive or Substantivizer on the one hand and the Temporal on the other can be
maintained.

In summary, d has an ambiguous status as a phoneme. In most instances dand nare
in complementary distribution, while in a few cases they appear to be in free variation.
However, they also are used rather consistently to distinguish certain morphemes. This
instability can be postulated to be evidence for a phonemic split in progress. That is, by the
time of the early 20th century Wyandot d has grown beyond being simply an allophone of n,
but has not progressed so far as to be completely contrastive with n.

In the analysis presented here, d is treated as a separate phoneme, with the

acknowledgment that there are instances where d is not fully phonemic.

2.10 Further Notes on g
There are a few additional problems concerning <@>, all interrelated. Two are

synchronic: the use of two different types of orthographic <g> by Barbeau, and the phonemic

%Another possibility is to analyze the Temporal n- as underlyingly nY, with loss of
the Y. Postulating aY is consistent with the probable historical origin of this form, the
particle n¢h ‘now’. Loss of the vowel is consistent with the patterning of the Substantivizer
anteprepronominal d(e), which retains its vowel as a particle but loses it as a prefix. This
possibility is not adopted here for two reasons. One is that the Temporal often appears as na
when a particle, clearly lacking a nasal vowel. The other is that the postulation of underlying
forms goes against the synchronic, surface-form oriented analysis used elsewhere in this
grammar.
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status of the voiced velar stop. The diachronic problem is the proto-Northern Iroquoian
source of the <gw> cluster. Each will be dealt with in turn.

Barbeau writes two different forms of <g>. Sometimes he uses open-hook <g>, but
more often <g> with a closed descender. The difference is not explained, although some
instances of closed <g> are clearly open <g> with the under-arc _ . This distinction is more
frequent in Barbeau (n.d.) than in Barbeau (1960). Barbeau (n.d.) even has a separate
alphabetical slot for closed <g> as opposed to open <g>, but the examples in those entries
vary between open <g> and closed <g> (compare Appendix C). The difference disappears
in print, where the character used matches whatever typeface has been set, e.g. <g> or <g>,
etc.”’

Based on Barbeau's use of the under-arc diacritic _, it can be postulated that open

<@> is velar while closed <g> is palatalized <gy>. Thus, <g g> are parallel to <k k>.

Additionally, both <g> and <g> can appear before <w>, resulting in four clusters:

Open Closed
Descender  Descender
Pre-Nasalized "gw "gw
Plain gw aw

Chart 17: GW Clusters

*"Note that this adds two more characters, g and g, to chart 9 Barbeau Consonant
Characters.
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This hypothesis, that open <g> is velar and closed <g> is palatal, can be tested by frequency
counts for both characters in palatal versus velar environments. That is, open <g@> should be
more frequent near velars, with closed <g> reserved for palatal environments. Although the
transcription is inconsistent, a test count can still be made. In order to avoid assigning the
environment based on the characters, morphemes were chosen based on historical
environments. That is, although the environment may not always be clear synchronically, the
historical forms clearly show where such environments once could be found. Two roots with
<@> or <g> in historically palatal environments were chosen, * ~gni=/*=pny-"make' and
* -nyak- 'marry’, as well as four other roots with historically labiovelar environments:
* «tkwir- "branch’, * =tkwe- 'blood’, * ~thkwp?t- 'bag, and * ~tsi7tkwar-'yellow / green'. The
following chart gives the reconstructed forms and the modern reflexes the reconstructions

were derived from.*

%Cherokee from King (1975), Tuscarora (‘bile', not 'yellow") from Rudes (1999),
Cayuga from Mithun & Henry (1982), Seneca from Chafe (1967), Oneida from Christjohn
& Hinton (1996), and Mohawk from G. Michelson (1973).
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Palatal T Labiovelar Environment
Environment
'make’ | 'marry’ 'branch’ 'blood' 'bag' 'yellow’
* ~ony=- | -nyak-3 tkwir- ~tkwp= | ~thkwp?t= | -tsiftkwar~
Cherokee | -gne- .
Tuscarora | gty | ~ak- | -(@jthwir- ~CiZtkwar-
Wyandot | ~og- | ~gak-§ -gwir- ~gwey- | ~gwet~ | ~tsigwar-
Cayuga | -pny- | -nyak- ~thkwehs= | «tkweft- | -tsifthwa-
Seneca | -pny~ | -myak- | -kwiy- ~thkwehs- | «thwe?t- | =tsi?thwa-
Oneida | yny- | -myak=f -kwil- ~nikwyhs= ~tsi’nkwal-
Mohawk | -uny- | -pyak= | -kwir- ~nekwyh-

Chart 18: Test Environments for <g> versus <g>

The level of reconstruction of the proto-forms is not stated in the chart since it varies: Proto-
Iroquoian for 'make’, Proto-Northern Iroquoian for 'marry’, 'branch', and 'yellow’, and Proto-
Lake Iroquoian for ‘blood and 'bag'. The forms given for 'make' for the Northern Iroquoian

languages are allomorphs appearing before vowels. Frequency counts are shown in this chart:
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Open g Closed g gy

'make’ - 64 7
'marry’ - 22 1

Total Palatals 0 86 8
'branch’ 8 12 -
'blood’ 11 5 -
'bag’ 4 1 -
'yellow' 1 2 -

Total Labiovelars 24 20 0

Chart 19: Frequency Counts of <g> and <g>

The first column lists the glosses of the forms. The characters open <g> and closed <g> are
listed across the top, along with instances of <gy> used by Barbeau in printed works. Totals
for each character in each environment are also given. Note that in palatal environments only
closed <g> is used. Open <g> is less clear cut in the labiovelar environments, however, with
just a slightly greater tendency than closed <@>. Thus, although it is clear that in palatal
environments closed <g> is used, there is no clear-cut distinction between closed <g> and
open <g@> in labiovelar environments.

The distinction will be maintained in orthographic examples. As an aside, Barbeau
tends to use open <g> in English, rather than closed <g>.

As discussed in section 2.5 Consonant Allophones, <@> is treated here as an

allophone of /d/ before /y/. This is demonstrated in examples 39 and 40. Given the parallel
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<g @> and <k k>, it can be argued that <g> itself should be phonemic. This allows the
orthography to be more regular, and creates a ;nore symmetrical phonemic system that
includes both /t k/and /d g/, rather than leaving a gap. This gap can be seen both in Chart
9: Barbeau Consonant Characters and Chart 10: Wyandot Consonant Phonemes. However,
such an analysis cannot be reconciled with the limited distribution of <g g@>, which can only
appear before glides. Thus, <g g@> will be maintained as an allophone of /d/, despite the
irregularity of the resulting consonant inventory.

The cluster <gw> is problematic historically, although synchronically it is simply /dw/.
Since /d/ is descended from *n (see section 2.9 Further Notes on d), such a cluster would be
expected to derive from proto-Northemn Iroquoian **nw. As indicated by the double
asterisks, this cluster is not reconstructed (Michelson 1988). Instead, where cognates can be
found, /dw/ comes from *tkw, as seen in Chart 18: Test Environments Jor <g> versus <g>.
The problem is the lack of a nasal source in *tkw for the change from *n to /d/. The cluster
*tkw would be expected to result in /kw/ in Wyandot, not /dw/, following other known
historical changes. One expected path involves a simplification of the cluster *tk to simply

/k/ (discussed further in section 2.14 Phonemic Alternations):

82 *k
\/
k

€ %

This results in the wrong cluster.
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Another expected path involves two changes. One is the simplification of the cluster
*kw to simply /w/. This can be seen comparing Wyandot and Mohawk cognates. The

Wyandot form, with just w, appears in 83:

(83) roméc
rQwéh
r=Qwe=h
MASC,sg,AGT-person-NOUN
'he person’ (‘the man")
TN:11:110:55, etc

Compare the Mohawk (G. Michelson 1973) form with kw:

(84) njkweh
'a male'

The second change is the alternation of /t/ and /k/ before glides, discussed in section 2.14
Phonemic Alternations. Together these show a different path of descent from *tkw, but also

leading to the wrong result:
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Thus the question remains: where did the nasalization come from? This also applies to the
Mohawk form for 'blood’, and the Oneida for 'blood' and 'yellow’, in chart 18: Test
Envirénments Jor <g> versus <g>.

Lagarde (1972:41) reconstructs proto-Northemn Iroquoian *tsitkwar'yellow’. In order
to account for <gw> in the Wendat form, given as otsingwara, Lagarde develops a route

whereby *tkw could become <gw>. She gives the sound change

(86)t>n/i_kw

to account for this morpheme. This would add the nasalization required for a stage where
<gw> did arise, becoming <gw> (thus /dw/) in Wyandot for this particular morpheme, as well
as a source for nasalization for the Oneida form as well. That is, the cumulative effect of

sound changes whereby *n became /d/ and *kw simplified to /w/ could give rise to /dw/

clusters:
Proto-Northern-Iroquoian *tsitkwar
Lagarde'srulet>n/i_kw *tsinkwar
*hkw— w *tsinwar
*n—=d *tsidwar
/d/ =g/ _glides <tsigwar>

Chart 20: Potential Route of Change from *itkw to <gw>

Note that the global changes are not crucially ordered. These changes, however, would not

account for any of the morphemes besides 'yellow’ in Chart 18: Test Environments Jor <g>
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versus <g>. If Lagarde's rule is modified to eliminate the reference to *i, then these
morphemes could be accounted for as well.

One final problem involving g centers on the morpheme (in Barbeau's orthography)
<=geh=> for 'blood; skin; hide', for which a phonemicization has been left out of the

following example:

(87) hagdhamgt
hu-goh-amg=¢
MASC,sg,PAT-blood-have-STAT
'he the hide has' (he has the hide")
TN:27:219:37

Note the presence of open g. What Barbeau transcribed as closed g is usually interpreted
phonemically as dy in this analysis, with gw and gw phonemicized as dw. In 87 g is not
phonemicized as dy since Barbeau never uses g for historically palatal environments (as seen
from Chart 18: Test Environments for <g> versus < &>). Comparative evidence indicates

that <=goh=> comes from *tkqh, as seen comparing the Tuscarora cognate from Rudes

(1999):

(88) =tke-
'blood; gore'

The Nottoway form was probably along the lines of katkq phonemically. The reason this

morpheme is problematic for the analysis presented here (where g and g are allophones of d
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before glides) is that there is no glide. Thus, <~goh=> should have been <=doh->in
Barbeau's orthography, since there is no glide.”
In Iroquoian languages there is a tendency for w to drop before back vowels. This

holds for Wyandot as well. In 89 the noun =r7hw-'law’ loses wbefore the g of =gt="tie":

(89) hadatrih¢’tg’

hudatrih?tq?

hud-at-rihw=qt<(h)o=?

MASC,non.sg,PAT-SEMI-law-tie-DISTR-STAT

'they office hold' ('they hold office")

TN:28:243:10
Loss of w before ¢ suggests the possibility of *tkwoh as an underlying version of the
historical form for 'blood; skin; hide’. This underlying form would create the *tkw which
could serve as the source for Wyandot dw (i.e., <gw>). However, positing underlying
phonemes which can never appear on the surface (as opposed to the occasionally appearing

wof 89) is contrary to the analytical orientation of this work, so this morpheme will remain

problematic.

2.11 Vowels
The following section treats the vowels in Wyandot and their distribution and

allophones. Barbeau uses the following vowel characters in his transcription system:

“Note that this form is doubly problematic for an analysis where d is an allophone of
n in non-nasal environments. This is because g lacks a glide and is before a nasal vowel.
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_
-
—
-
—|‘
ey
P—
o
P

e 6 & & & & e ¢ ¢ & & &
e & t ¢ & & g £ ¥ & G

a 4 a a a4 a a & a a 4

o 6 & & & & o ¢ & b & %
u 4 & a g TR R R

Chart 21: Vowel Characters

Each base character is on a separate row, while each column represents a particular set of
diacritics. The first character is plain, without diacritics. The following columns are with
diacritics that indicate primary stress; secondary stress; shortness: shortness with primary
stress; shortness with secondary stress; nasalization; nasalization with primary stress;
nasalization with secondary stress; nasalization and shortness; nasalization, shortness, and
primary stress; and nasalization, shortness, and secondary stress. The gaps are probably

accidental. This range of symbols can be shown in the following matrix:
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Chart 22: Diacritic Patterns

These 64 different characters can be reduced to six phonemes, with an additional
marginal phoneme. They are represented in the next table, according to primary phonetic

realization:

a @
Chart 23: Wyandot Vowel Phonemes

The six primary vowel phonemes can be arranged in a symmetrical chart, with high front /i/,

high back /w/, low back /a/, low front /e/, front nasal /g/, and back nasal .



iu
9
ea

Chart 24: Wyandot Vowel Phonemes Symmetrically Arranged

Although Barbeau described the back nasal as [3] ("the open o nasalized as in French bon"),
he wrote it as <@>. For simplicity, the back nasal will be written /Q/ here as well. Similarly,
the front nasal will be written as /¢/ instead of /g/. Although most instances of <> can be
shown to be allophones of /a/, there are a small number that cannot be so explained. Itis for

this reason that (3) is entered parenthetically in chart 23. See example 95 in section 2.12

Vowel Allophones.

2.12 Vowel Allophones
This section will discuss vocalic allophony. Each vowel has multiple allophones,

especially in the environment of a nasal.

In 90a the root - Yera?t~ 'use’ appears with [e], while 90b the same root is shown

with [€]:

(90) /e/ = [€] (optionally)
a. ahatij(é)-rat
ahatiZé:mat
a-hati-Yera?t
FACT-MASC,pl,AGT-use. PUNC
'they used'
TN:07:099:05
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b. aha(é)rat
dhaéra?t
a=ha-Yera?t
FACT-MASC,sg,AGT-use.PUNC
'he used’
TN:13:119:31

Although /¢/ can appear as [@], as in 91a, it is usually realized as [g], as in 91b:

(91)  /g/ = [¢] (optionally)
a. homgts(e)tPa¢
howetsehti?ah
h=-qwe=1?tsehti-7ah
MASC,sg,AGT-person-young STAT-DIM
'he is a boy’
TN:21:156:57

b. homits(g)tia
howetsghti?ah
h=-qwe-2tsghti=-?ah
MASC,sg,AGT-person-young.STAT-DIM
'he is a boy'
TN:21:156:09
As an allophone of /g/, [€] usually appears in the vicinity of a nasal, with optfonal
intervening segments. Some or all of these may be due to errors in transcription. That is, the
nasal nature of a nearby nasal segment might have masked nasalization on the vowel itself.
This allophone may thus actually be an English-biased perception mistake. As seen in the

following example, /¢/ appears as [g] in 92a, and [€] in 92b, adjacent to a nasal segment [".



(92) fe/=[€]/%N

a.

atém(g)tayet

altew=¢~-tayeh

ha?-te-w=gt-aye-h
TRANS-DU-FEM.ZOIC,sg,AGT-day-number-STAT
'every day’'

TN:01:059:03

atém(e)"ta-ye¢

attew-g-ta:yeh

ha?-te=w=gt-aye~h

TRANS-DU-FEM.ZOIC,sg, AGT-day-number-STAT
'every day’

TN:12:112:23

Nasalization can also spread to /i/, resulting in [j]. This can occur regardless of

whether the nasal segment precedes or follows the /i/. Note in 93a the nasal [i), and in 93b

the oral [i]:

(93) [/ =[j]/%N

a.

tat(j)"da-re

tatidare

t=(h)ati=-dare
CISLOC-MASC,pl,AGT-live.STAT
'they live' (‘they live at ...")
TN:29:270:25

tat(ida-rg’

watida:ré?

t=(h)ati-dare-?

CISLOC-MASC,pl, AGT-live-STAT
'they live' (‘they live at ...")
TN:40:309:14
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The phoneme /a/ can be nasalized to [@] before a nasal segment, or following a nasal

segment with an optional intervening laryngeal. 94a shows nasalization of /a/ before the pre-

nasalized stop /d/. 94b shows nasalization of /a/ after /w/; which itself has been nasalized to

{m)] by the preceding /g/. 94c shows nasalization of /a/ after nasal /¢/ and an intervening /h/.

(94) /a/-O[a]/{ _N }

a.

N(@)_
ah(a-"g)a¢
ahd:dydh
a-ha=dya-h
FACT-MASC,sg,AGT-chase-PUNC
'he her chases (after)' ('he chased her’)
TN:02:069:26

h(dma)yliwa ng¢

hQwayuwd:nch

howa-yuwane-h
MASC,pl:MASC-large-STAT

'he is big (head leader)' ('he is the leader’)
TN:02:070:14

ahaj@’*tur(¢-ha)y

ahaZi?tur¢:ha?

a-hay-Ya?t-ur¢-ha?
FACT-MASC,sg:1,sg-body-find-PUNC
'he me finds' ('he found me')
TN:01:061:27

There are sporadic examples of [@] where the nasalizing environment cannot be found.

Those cases will have g in the phonemicization, as in 95:
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(95) h'r@
ha?ra?

lonlyl

TN:04:081:37; TN:24:192:27
Here there is no apparent nasal segment from which nasalization could have spread. Such
examples are primarily restricted to particles.

The high back vowel /u/ can also nasalize before a nasal segment, becoming [y). In

96a /u/ is nasalized preceding the pre-nasalized stop /d/, while in 96b it remains oral [u].

(96) /u/ = [u]/_ N (optionally)
a. t(g) "di
ta:di
lalso'
TN:02:065:27

b. t() "di
ti:di?
'also’
TN:24:194:15
The back nasal /¢/ is often written [0] in the environment of a nasal, with optional
intervening segments. As with [€] as allophone of /¢/, this may be a transcription error, with

the nasality of a nearby nasal segment hiding the nasality of the vowel /q/. This can be seen

in97:
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7 lo/=[0]/%N

a.

kasdkaXken(o)

kasakyd ?kyenq

ka-s-at-Ya?t-Yenq
CISLOC-2,sg,PAT-SEMI-body-fall. IMP
'here thou liest down' (lie down here')
TN:04:086:09-10

ahakakén(o)

ahdkya?kyen-q

a-h-at-Ya?t-Yenq
FACT-MASC,sg,AGT-SEMI-body-fall. PUNC
'he lies down'

TN:12:112:42

There are also occasional examples where /g/ is transcribed as [@], indicating that the

phonetic ranges of /g/ and /a/ may slightly overlap, or at least come close in vowel space:

(98) /o/ = [a] (optionally)

sé(ha)tédiyoruja’s

sahQté2diygruZahs

s-a=hQ-ate-diyQr-uZ-ahs

REP-FACT-MASC,pl, AGT-SEMI-sense-play-HAB®
'again they went on playing' (‘they went back to playing")
TN:03:075:07

nt(Q)tediydrija‘s

totediygruzahs

t-(h)g=ate-?diyQr-uZ-ahs

CISLOC-MASC,pl, AGT-SEMl-sense-play-HAB
'where they were playing’

TN:03:075:05

Here the pronominal prefix =hg- they appears as <h@> in 98a, and <(h)Q> in 98b.

“Anomalous use of the Habitual with a modal prefix, the Factual. See chapter 5: Verb
Stem Elements.
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Another variant of /¢/ is [u] before /w/, which, as previously mentioned, becomes [m]

after a nasal. Thus, /Qw/ can appear as [um):

(99) /o/ = [u]/_m (optionally)

a.

h(G)mg>*"tsgtPac

howetshti?ah
h=Qwe=2ts¢hti-?ah
MASC,sg,AGT-person-young-DIM
'boy'

TN:19:144:25

h(§)mp*tsgtidat

howé 2tsehti?ah
h=-qQwe=?ts¢hti-ah
MASC,sg,AGT-person-young-DIM
'boy’

TN:19:142:26

In 99 the term for 'boy’ appears with either [um) or [em]. Together the variants of /q/ as [a]

and [u] indicate that the back nasal can range over the entire height spread for back vowels.

The vowel W/ can also appear as [a], but only when short. That is, W/ is occasionally

represented as <&>. This can occur even under stress. In 100a the verb ~ yuwang=-"large' is

transcribed with [&], while in 100b with [T].

(100) /w/ = [&] (optionally)

a.

kway(a)wang¢

kwayuwdngeh

t=wa-yuwang=h
CISLOC-FEM.ZOIC,sg,AGT-large-STAT
'she is large elder’ (‘she is the elder’)
TN:24:191:45
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b. kway(O)wa-ng¢
kwayuwa:n¢h
t-wa=-yuwane-h
CISLOC-FEM.ZOIC,sg,AGT-large-STAT
'she is big (the eldest)’ (‘she is the elder)
TN:28:246:01

Additionally, all vowels may be repeated after a glottal stop. Occasionally when either
a nasal vowel is repeated, or an oral vowel in a nasal environment is repeated, the orality /
nasality of the repeated vowel does not match that of the main vowel.

Each of the following examples shows a different echoed vowel: ! ¢ € ¢ a # 0 o u

The echoed ° only occurs after 9."!

(101) yaha-wi
yaha :wi?
ya-hawie=?
FEM.ZOIC,sg, AGT-carry-STAT
'she carries'
TN:04:090:26

(102) yQ"taré’*
yotaré?
y=qQtar-e?
FEM.ZOIC,sg, AGT-lake-NSF
'lake’
TN:08:103:50

“It is possible that what Barbeau transcribed as echoed vowels was phonetically
creaky voice.
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(103)

(104)

(105)

(106)

(107)

(108)

ho"t&>*y§’aha¢

hgte?ye?ihah

hq-ate-?y¢taha-h
MASC,pl,AGT-SEMI-sibling-STAT
'their brothers'

TN:40:307:47

yéFric

ygris

ya=-iri§
FEM.ZOIC,sg,AGT-lion
lion'

TN:09:105:33

de‘skémg "dard’*coiiQ

ehskewgdara?¥qnyq?

e=-hske-wed~a-r-a-73qnyq-? _
FUT-2,sg:1,sg-voice-JOIN-put.away-JOIN-DISTR-PUNC
‘will thou (with) me converse' (‘you will speak to me')
TN:04:079:10

h@%ra

hg?ry

] Onlyl
TN:02:066:27; etc.

cQ’ma
Sowd

'by far’
TN:04:080:49

éskQ’%trg- "da¢

eskQ?trg:dah

e=S=yQ=ittrQ-d-ah
FUT-REP-1,sg:2,sg-live-DISLOC-PUNC
'will I you take there' (I will take you there')
TN:02:071:37-38
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(i09) w'watsa
u?wdhtsa
u=?wahts-a
FEM.ZOIC,sg,PAT-meat-NOUN
‘the meat'
TN:21:151:27

2.13 Phonemic Vowel Distribution
The following section lists the vowel phonemes and the environments they appear in.

This is represented in the chart below.
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Chart 25: Vowel Environments

As can be seen from the chart, vowels need not be separated by consonants. The
following vowel clusters can be found: ae-, ag-, ai=, aQ=, au=, eu-, Qi~ initially; -VeV-
medially; -aa, -ae, -ag, -ai, ~aq, =ee, =¢¢, =¢Q, =QQ, -uQ, and -eu finally. These do not

appear to form diphthongs.

2.14 Phonemic Alternations

A certain number of alternations between forms can be stated for Wyandot. The

historical origins of many of these alternations are readily apparent.
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The following is an example of ty replaced by k. 110a shows - yohs'- 'face’ after a

vowel, while 110b shows the same noun after the Semireflexive (SEMI) -at-. The

combination of t from the Semireflexive and y from 'face’ results in k.

(110) t+y=k

a.

eskey¢‘curghg’

eskeyghureha?

e=ske-yqQhS=urg-ha?
FUT-2,sg:1,sg-face-find-PUNC

'will thou my face find’ ('you will invite me')
WD:NR:085

sahomak¢‘cltadi-ha’

sahqwakgh3utadi:ha?

s-a=hQweat=yqh§-ut-a-di-ha?
REP-FACT-3,non.sg:MASC,sg-SEMI-face-stick-JOIN-BEN-PUNC
'thou self face stick to or present (go and invite)' (‘invite them')
TN:24:188:54-55

The next shows the final t of the Semireflexive -gr- becoming k before the w of

-wgd-"voice':

(111) t=k/_w
usahakwg "d’tg’s
usahakwedii?tehs
usa=he=at-wed=-ut¢-hs
OPT.REP-MASC,sg, AGT-SEMI-voice-kind-PUNC
‘again his voice is the same’ ('his voice imitated the other one')
TN:29:257:38
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It should be noted that the two rules in 110 and 111 are not parallel. The reasons will become

clearer in section 2.15 Further Notes on y.

There is an alternation between d and t after s:

(112) d=t/s_ ,
a. ya"da’iraha’
yadiPurdha?
ya=datura-ha?
FEM.ZOIC,sg,AGT-able-STAT
'onebody is able to'
TN:27:229:56-57

b. éstUraha’
esda?uraha?
e=-s=da?ura~ha?
FUT-2,sg,AGT-able-PUNC
'thou art able'
TN:29:270:32

In 112a the initial stop of the morpheme =da7ura - 'able’ appears as d, after the vowel a, but
is tin 112b, after s.

There is also an alternation between Z before a vowel and the sequence ri before a

consonant:

(113) ri=z/_C
a. aydmaturiha-ke’
ayQwaturiha :kye?
a-yQw-at-uri-h-akye-?
FACT-3,non.sg:FEM.ZOIC-SEMI-drive-STAT-PROG-PUNC
'he them is driving' (he is driving them’)
TN:29:267:35
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haydmatije’s

hayqwatuZe?s

hayQw=at-uZ-e?s
MASC,sg:MASC,non.sg-SEMI-drive-HAB
'he them drives' ('he drives them')
TN:27:211:01

Note that the verb ~uri-'drive' appears as -ur7- before h in 113a, and as =uZ- before e in

113b. This is the result of a historical change, where *ry became .

When initial i of an I-stem (see 3.2 Phonological Conjugation Classes) follows a

pronominal prefix ending in a, the vowels a and i are replaced by ¢

(114) a+i—¢/pronominal prefix _other morpheme

a.

te(stitija’

tehstihtiZi?
te<hst=iht-iZa?
DU-2,dl-field-cross.IMP
'you two cross (the field)
TN:24:183:34

yé(ta')'ye(

yéhti?yeh

ya-iht-a=-?yeh
FEM.ZOIC,sg,AGT-field-JOIN-LOC
'the prairie on’ ('on the prairie")
TN:29:270:12

Here the second dual pronominal prefix =/st-and the noun root =zi¢="field' retain their basic

forms in 114a. In 114b, however, where the noun follows the zoic agent (FEM.ZOIC,AGT)

=ya=-, there is merger at their juncture into ¢.*2

“This is the traditional Iroquoianist approach since Barbeau (1915a). An alternative
is to treat pronominal prefixes as overlapping I-stems with ¢, without postulating that the
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2.15 Further Notes on y
The phoneme /y/ enters into two different but overlapping sets of alternations. In one

set y alternates with ny and k. In the other set y alternates with ny,w, %, and @.

(115) y,ny, k
y.ny,w, 2,0

In the first set y is the most frequently occurring, with fewer instances appearing as ny, and
the fewest as k. In the other set @ is the most often found, with w, ny, Z less frequent, and
y appearing the least often. The first set of alternates will be represented by y, while the
second set of alternations will be represented by the morphophoneme Y.

The following chart summarizes the alternations of y and Y. The question marks

indicate unclear interactions. Different alternations and interactions will be addressed in tumn.

pronominal prefixes occurring before I-stems are underlyingly the same as those occurring
before C-stems (see 3.2 Phonological Conjugation Classes).

“The first set is descended from *k, while the second is from *y. According to
Mithun (1979), the two sets of alternations are *k >k, Y.Zand *y >y, % 0.
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y Y
iV y "2
i ny ny
eV ? ?
.Y ? ny
eV y %]
aV y o
ayY vy ny
.V vy w
LY y~ny w
uV y w
1V y ?
C.V k y
cC - i
tC - [e)i
tV [k (kly
5. [sk ?

Chart 26: Alternations of yand Y

The first several lines of the chart indicate various intervocalic alternations for yand Y. This

is followed by alternations involving consonants. Square brackets indicate segments that

overlap or replace elements from the environment.

Example 116 shows a y ~ k alternation from the first set (i.e., y) for the verb =yp-

'be in":*

“Recall the historical rule where *k became y except after another consonant, from
section 2.3 Under-differentiation.
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(116) a.  yarediyoS
yd:reddyoh
ya-reda-yQ-h
FEM.ZOIC,sg, AGT-cave-in-STAT
'the cave in' ('in the cave')
TN:19:138:63

b. yang‘sko¢

yan¢hskoh
ya-nqhs-yq=h

FEM.ZOIC,sg, AGT-house-in-STAT

'it house in' ('in the house')

TN:29:265:53
The first example shows 'be in' beginning with a y, while the second shows the same verb with
ak. This alternation is triggered by the presence or absence of a preceding consonant. When

there is such a consonant, k appears. Otherwise, y.

However, when the preceding consonant is ?, y remains:

(117) a’*yakwg""diha’
alyakwediha?
al=-y-at-wed-iha=?
FACT-1,sg, AGT-SEMI-voice-shout-PUNC
T shouted to' (I shouted to them')
TN:28:242:46

In 117 the first person singular agent -y- remains y despite being after a consonant, 2.
The alternation of y and ny is optional. Here the verb =yg-'see’ appears both with

the alternation and without:
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(118) a. aha-yp
ahdry¢?
a-ha-yg-?
FACT-MASC,sg,AGT-see-PUNC
'he saw’
TN:17:132:06

b. ahayoig’
ahaygnye?
a~hayg-yg=-?
FACT-MASC,sg:MASC,non.sg-see-PUNC
'he them saw' ('he saw them’)
TN:02:070:09

c. nahay¢-yg’
nahayg:ye?
n-a-hayQ-yg-?
TEMP-FACT-MASC,sg:MASC,non.sg-see-PUNC

'now he them saw’ (‘'now he saw them')
TN:24:186:66-187:01

The y in 118a corresponds to ny in 118b, between nasal vowels. Although in the same
environment, 118c retains y. This optional altemation is triggered by a preceding q.

The first alternation to be shown from the second set (i.e., Y) is that of Y and w,
shown with =Yp-'arrive'. In 119a, = ¥p- is realized by y, while in 119b ¥ is replaced by w.
The appearance of y is due to the preceding consonant. The conditioning environment for

the w is the preceding back rounded vowel, u.

107



(119) a ahayoma’%o’
ahaygwa ?kyq?
a=hayQ-Ya?t-Yq-?
FACT-MASC,sg:MASC,non.sg-body-arrive-PUNC
'he (with) them two arrived home' (‘he arrived home with them')
TN:24:185:07

b. tesu'wd
te?suswg
te?=s=(h)u-Yoq
NEG-REP-MASC,sg,PAT-arrive STAT
‘not back he has arrived' ('he hasn't returned')
TN:04:081:31

Additionally, it may be seen thatin 119a the Y in - Ya7t= 'body’ also corresponds to w, this
due to the preceding . That is, back vowels trigger the alternation of Y and w.
The altemation of Y and ny can also be shown with the verb - Yo-'arrive’. In 120 Y

appears asny. The triggering environment is a combination of the i preceding the Y, and the

nasal vowel afterwards.

(120) tuhahatifiQ?
tuhahatinyqQ?
tu=h-a=-hati-YQ=?
REM-TRANS-FACT-MASC,pl,AGT-arrive-PUNC
'there they arrived'
TN:37:299:38-39

When i precedes Y but the following vowel is oral, then the alternant found is 3:
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(121) teh§matij@ *turg><d
tehowatiZ turé 2di?
te=howati-Ya?t-urg-di=?
NEG-3,non.sg:MASC,non.sg-body-find-BEN-STAT
'not their body feund' (they did not find their bodies')
TN:40:311:03-04

Note that in 121 Y appears as Z. This Z also appears when Y follows y,asin 122:

(122) awajé-da-Q’
dwaZé:di:Q?
a=way-Yeda=q?
FACT-1,sg,PAT-catch-PUNC
'it (of) me takes hold of' ('it takes hold of me’)
TN:05:091:43

The y at the end of first singular patient -way- fuses with the Y of - Yeda- 'catch’ to form
zZ

The most common alternant of Y is@. This occurs intervocalically, aside from the
environments just discussed. That is, after e and a the morphophoneme Y becomes @,
regardless of nasality of the following vowel. In 123 the verbs - Yeteri='know' and - Yeda-

‘catch’ both appear with @ for Y after a, even though they differ in the nasality of the vowel

after Y.

(123) a. hagtérit
haeterih
ha~Yeteri-h
MASC,sg,AGT-know-STAT
'he knows'
TN:24:184:16

109



b. ahomaeda @’
ahqwaeda:qQ?
a=-hqwa-Yeda=Q?
FACT-3,non.sg:MASC,sg-catch-PUNC
'they him get hold of ('they get hold of him')
TN:27:232:09

Y also appears as @ after e:

(124) ekéa'tg:"ga’
ekea?tg:dya?
e=~t-ye-Ya?t-qdi-a?
FUT-CISLOC-1,sg,AGT-body-make-PUNC
T body make' (T will create people")
TN:01:062:23

To show that there are two different alternations, one for Y and one for y, examples
need to be shown where the /y/ of one alternation set does not undergo the changes of the
other set.

For example, y does not become w after back rounded vowels. In 125 the change

from y to w expected for Y does not occur: y remains y (cf. 119).

(125) ahuyg
ahu:y¢?
a=hu-ye=1?
FACT-MASC,sg,PAT-see-PUNC
'he him saw' (‘he saw him')
TN:12:113:24

110



The alternations between Y and @ intervocalically, and between Y and Z after palatals (i and
y), also fail to occur for y. In 126 both examples show -yerp-'stay’ withy. The first shows

an intervocalic y (cf. 123) and the second shows y instead of Z (cf. 121).

(126) a. adwayé rg’
awayé:rg?
awa=yerQ=?1
1,EXCL,pl,AGT-stay-STAT
'we sit together’
WD:VR:350

b. hatiyé-ro
hatiyé:rq
hati=yerq
MASC,pl,AGT-stay.STAT
'they stayed'
TN:40:309:46

Since y fails to join in the alternations of Y, they must be separate, even though they overlap.
The exchange of i and Y depends on whether a consonant or vowel follows. Before

a consonant i can be found, while Y precedes a vowel.

Before Before
Consonant  Vowel
i Y

Chart 27: Altemnation of 7and Y

This can be seen using the verb =hsrpdi-'"make'. 127a shows the verb 'make’ as -4Srpdi=

before a consonant, and 127b =AsrpdY - before a vowel.
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(127) a. hiticrg"dP
hutih3rqdi?
huti-h3rqdi~?
MASC,pl,PAT-make-STAT
'they had made’
TN:37:293:59

b.  ahati-cr¢"ga’
ahati:Srgdya?
a-hati-h$rqdi-a?
FACT-MASC,pl,AGT-make-PUNC
'they make'
TN:07:100:40

There are different interactions between t and y on the one hand, and between t and
Y on the other. These interactions are further affected by the alternation between Y and i.
The following example shows that t alternates with k before Y.* 128a shows the

noun -rpt-"log' ending in a t and followed by a vowel. 128b shows the same noun, this time

appearing as =rgk- when preceding Y.

(128) t=k/_Y
a. yarg-ta’
yarQ:ta?
ya=rQt=a?
FEM.ZOIC,sg, AGT-log-NOUN
llog|
TN:11:109:36

%Since /K/ is an independent phoneme, this rule has a different status than the similar
allophonic rule converting /d/ to [g] before /y/ (see section 2.5 Consonant Allophones).
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b. 2°rgkya’
a?rg:kya?

al-@-rot-Ya?

FACT-1,sg,AGT-log-break. PUNC

Tlog cut' (I cut the log")

IR:08
The alternation of t and k before a palatal glide is common in Iroquoian languages, also
occurring in dialects of Mohawk and Cayuga.

When a morpheme ending in t is followed by a morpheme beginning with y, their

boundary has k instead of t, y, or ty. Thus, ty alternates with k. This can be seen in example

110, as well as here:

(129) @*waki'se’

a?wiake¢:se?

al=weateyg=1s=-¢?

FACT-FEM.ZOIC,sg,AGT-SEMI-see-BEN-PUNC

'she (at it) looked' ('she looked at it)

TN:26:202:38
At the boundary between the Semireflexive -a¢-and the verb =yg='see' is found k, rather
than ty.

Extending the alternation of tY with ky to include the alternation between Y and i

results in tY appearing as either ky before a vowel, or ti before a consonant.

113



Before Before
Consonant  Vowel

ti ky
Chart 28: t + Alternation of fand ¥

This ti / ky alternation can be seen with the verb -ngrpti=/ =ngrokY="hunt'. Note in 130 that

the root for 'hunt' appears as -ngrpti- before h, but as -ngrpky-before e. This is parallel to

127, with the additional alternation of t and k.

(130) a. dehidng roti¢
dehung:rotih
d-e-hu=-nerqti=h
SUBST-FUT-MASC,sg,PAT-hunt-PUNC
'that he (may) hunt'
TN:04:079:23

b.  hung'roke’s
hun¢:rgkye?s
hu-nerqti-e?s
MASC,sg,PAT-hunt-HAB
'he goes out hunting'
TN:23:176:07

The interactions of both Y and y with a preceding t are summarized in this chart:

Before Before

Consonant  Vowel
t+y - k
t+Y ti ky

Chart 29: Interaction of ¢with Yand y
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In 29, the two rows indicate which alternation, Y or y, follows t. The columns indicate
whether the tY / ty occurs before a consonant or a vowel.

Finally, § before another consonant, other than 7, altemates with s. Before y the result
is sk. In 131a the noun root -7nghs-'bag' is shown before 3. 131b shows the same root
before k, where it appears as =7Znghs-. This k itself is explained in section 2.16 Epenthesis

and Prothesis, with example 133.

(131) a. ya’n¢‘ca’
ya?nQh$a?
ya=-tnoh§-a?
FEM.ZOIC,sg,AGT-bag-NOUN
'it bag' ('bag")
TN:31:274:02

b. hating‘skwp'tr§‘ska’
hatinghskwi?tr¢hska?
hati-?nQhS~-wittrg-hsk-a?
MASC,pl,AGT-bag-tie-UN-STAT
'they the bag tie unfastened’ (‘they untied the bag’)
TN:29:269:58

Before y, § alternates with s, with the y alternating with k:

(132) a. anQ‘camg¢
anQhSaweh
a-nQh3-awg=h
1,sg,PAT-house-have-STAT
'a house [ have' (‘'my house')
WD:NR:082
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b. ayling‘sko’
ayun@hskq?
ayu-nQh3-yq=?
FEM.INDEF,sg,PAT-house-in-STAT
'the house (hold) in' ('in the house")
TN:30:272:51

In 132a the noun -nghs=-"house' appears with § before a, while in 132b the intersection of the

§ of =nghs’=house' with the y of =yqQ= 'in’ results in sk.

2.16 Epenthesis and Prothesis
There are various ways by which extra phones are added. An epenthetic k is inserted

between s and w:

(133) s+w=>skw
a. sahatrg "dita’*da’
sahatréduti?da?
s=a=h-at-rgd-ut-a=-7d-a?
REP-FACT-MASC,sg, AGT-SEMI-song-stick.up-JOIN-DISLOC-PUNC
‘again he sings thereat' (‘he sang again')
TN:24:186:22

b.  skwatrg "didta’
skwatré:di?ta?
sk=weat-rgd-ut-a?
REP-FEM.ZOIC,sg,AGT-SEMI-song-stick.up-HAB
‘again she (instead of) him sings' ('she sang for them instead of him")
TN:24:190:57

Note how the repetitive (REP) =s=is followed by a in 133a, but there is a k between it and

the following w in 133b.
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When certain morphemes are joined together (usually incorporated nouns and
following verbs, but also nouns and verbs followed by consonant-initial suffixes), the vowel
a is sometimes inserted in between to break up consonant clusters. This =g~ is called the
joiner vowel (JOIN). In 134 the Joiner -3- is inserted between the roots -gwghts="land’ and

-wahst="good'."

(134) komgisawasstic
kyqwehtsawahstih
t=y=qwehts-a =wahst-ih
CISLOC-FEM.ZOIC,sg, AGT-land-JOIN-good-STAT
'to the land good' (‘to the promised land')
TN:29:267:20

A verb needs to be at least two syllables long. Ifit is not, then a prothetic (PROTH)
1=is appended to the beginning of the word. The verb in 135 would only be one syllable long

if the Prothetic were not added.

(135) ide’s
ide?s
i=d=e=?s
PROTH-3,dl,AGT-go-HAB
'they two walk'’
TN:24:187:05

TAn alternative, used by Chafe (1967:15) for Seneca, is to postulate basic versus
combining allomorphs. The combining allomorphs end in a (or, in the case of Seneca, 2, q,
and ¢ as well).
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However, there are several instances of initial i which also lack any meaning, but due to the

length of the word, do not serve the same function as the Prothetic.

(136) Thayawa‘ng¢
ihayuwameh
i=ha=yuwang=h
PROTH-MASC,sg,AGT-large-STAT
'he is large’
TN:13:118:32

The word in 136 is four syllables long without the initial i, so that it is not the Prothetic. Or,
it could be the Prothetic, but with some other unclear function.

An intrusive glottal stop ?, sometimes complete with echoed vowel, can appear before
a consonant, without affecting meaning. Note that the first example in 137 has the string

<@t> while the second includes a glottal stop ? and echoed vowel. Otherwise, the forms are

identical phonemically and semantically.

(137) a. ah(¢"te‘wa’
ahqté?wa?
a=hq-ate?w=a?
FACT-MASC,pl,AGT-run.away-PUNC
'they fled'
TN:40:307:17

b. ah(¢°t)e‘wa’
ahQté?wa?
a-hg-ate?w=a?
FACT-MASC,pl,AGT-run.away-PUNC
'they fled'
TN:20:147:05
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This intrusive ? can also occur before consonant clusiers. In 138 the consonant cluster <fi>

(representing ny) is preceded by a glottal stop ? and echoed vowel only in 138b.

(138) a.

déhuk(gn)e’

dehtihkénye?

de-hu~hkenye?
SUBST-MASC,sg,PAT-younger.STAT
'the he is younger' (‘the younger one’)
TN:01:062:21

dehuk(g*n)e’

dehihkénye?

de-hu-hkenye?
SUBST-MASC,sg,PAT-younger.STAT
'the he is younger' (‘the younger one')
TN:01:063:03-04

The most frequent occurrence of the intrusive glottal stop is before d, both across morpheme

boundaries and within morphemes:

(139) a.

du("d&%ar)a’

dudd tara?

d-u=-da?tar-a?
SUBST-FEM.ZOIC,sg,PAT-bread-NOUN
'the bread'

TN:04:078:08

du(d@tar)a’

du?dd?am?

d-u-da?tar-a?
SUBST-FEM.ZOIC,sg,PAT-bread-NOUN
'the bread'

TN:34:282:13-14
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The root for ‘bread’, -da?tar-, appears prenasalized initially in 139a, but with a glottal stop

in 139b. The intrusive glottal stop can also appear within a morpheme:

(140) a.

ahuweédag’

ahuwédaq?

a-hu-Yeda=q?
FACT-MASC,sg,PAT-catch-PUNC
'it him caught' ('it caught him’)
TN:13:121:08

ahgmatije’ddQ’

ahqwitiZeddq?

a=hQwati=Yeda=q?
FACT-3,non.sg:MASC,non.sg-catch-PUNC
'they them caught' ('they caught them")
TN:37:292:06

The root for 'catch’, - Yeda -, appears with the glottal stop in 140b, but without in 140a."

2.17 Stress Placement

Barbeau indicates two types of stress or accent, primary and secondary. The first is

the "main stress or accent in a word" which "usually corresponds to a rising pitch of the

voice" (Barbeau 1960:58). Instead of "rising pitch", Barbeau (1915b) calls this "high pitch".

It is symbolized with the acute mark . The second is described as a "minor or weaker

accent”, marked by the grave diacritic *. Various primary stress patterns and their exceptions

will be presented first, followed by secondary stress.

“'It is interesting to note that the historical changes affecting *n and *t in Tuscarora
also involve the addition of a glottal stop. However, in Tuscarora, where *n became ¢ it is
the reflex of *t that gained a glottal stop: 7n.
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According to Michelson (1988:52), Proto-Lake Iroquoian had penultimate accent,
unless the penultimate vowel was the Joiner -4~ (see section 2.16 Epenthesis and Prothesis).
In that case, the accent was antepenultimate. Examples of Wyandot words that also follow
this rule can be found. Each of the examples in 141 shows primary accent on the penultimate

vowel, with none of the forms showing the Joiner =a-.

(141) a. acegaha
aedyaha
a=Se-dya=-ha
FACT-2,sg,AGT-eat-PUNC
'for them to eat'
TN:28:243:56

b. ahada’ura-ha’
ahadd?urd:ha?
a=ha-da?ura-ha?
FACT-MASC,sg, AGT-able-PUNC
'he is able'
TN:26:207:46

C. ahaaxke’
ahaa?kyq?
a-ha-Ya?t-Yq-?
FACT-MASC,sg, AGT-body-arrive-PUNC
'he her brought (in)' (he brought her in")
TN:02:065:31

d. dehim§tsétia:
dehqwehts¢hti?a:
de=h=gwe=-1ts¢hti-7a
SUBST-MASC,sg,AGT-person-young.STAT-DIM
'the he person young' ('the young man')
TN:02:072:51
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e yawalsti
yawahstih
ya=wahst-ih
FEM.ZOIC,sg, AGT-good-STAT
'it is nice’'
TN:22:165:16

The following forms show the Joiner -2~ as the penult, with stress thus on the

antepenult, as in the Proto-Lake Iroquoian rule:

(142) a.  arg"diha‘ca’
ar¢:dihdh3a?
a=r=¢=dih-a=h3-a?
FACT-MASC,sg,AGT-SEMI-borrow-JOIN-DISLOC-PUNC
'he went to borrow'
TN:29:261:34

b.  awatéyat
a?widteyat
a?-w=atey-a=ht
FACT-FEM.ZOIC,sg, AGT-burn-JOIN-CAUS.PUNC
'she set fire'
TN:22:161:33

c. hawitca’*yet
hawih3aZyeh
h-awih$-a=?yeh
MASC,sg,AGT-strength-JOIN-LOC
'his strength'
TN:19:141:02

d. sahakata’’da
sahakdhta?da
s-a=h-akaht-a-?d-a
REP-FACT-MASC,sg, AGT-see-JOIN-DISLOC-PUNC
'again he goes to see (visit)' (he went to visit again’)
TN:21:153:42
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e. téyg “datdkwadi-
teye?datghkwadi:h
te=ye=2d-atghkw-a-di=h
DU-1,sg,AGT-arrow-shoot-JOIN-BEN-STAT
‘one side then the other’ ('I shot both sides')
TN:28:237:49

All of these forms show a stressed antepenult with the penult being the Joiner ~a-.
Contrary to the historical rule, however, in Wyandot the Joiner =g can be stressed
when penultimate. In the following examples, the Joiner =a- vowel is stressed despite being

penultimate.

(143) a. a%tettsgta-dic
ahtehuts¢htd :dih
gh-te=hu=tsght-a-di=h
NOT-NEG-MASC,sg,PAT-eat-JOIN-BEN-STAT
'no not she him feeds' ('she doesn't feed him")
TN:27:211:15-16

b. ahimg"da’*a’
ahuweda 7ta?
a=hu-wed-a-t-a?
FACT-MASC,sg,PAT-voice-JOIN-stand-PUNC
'he prays for mercy'
TN:25:197:07

c. ésatrg- "duta’*da’
esatré:duti?da?
e=S=at=rgd-ut-a=7d-a?
FUT-2,sg,PAT-SEMI-song-stick.up-JOIN-DISLOC-PUNC
‘will again thou sing thereat' ('you will sing again then')
TN:24:193:16
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d.

ha’*ga’*ye¢

ha?dyd?yeh

ha-?dy-a-?yeh
MASC,sg,AGT-finger-JOIN-LOC
'his finger on’ ('on his finger')
TN:28:237:19

day@’méskwa-dic

dayq?weskwi :dih
d-ay-qgweskw=a~di=h
PART-1,sg,PAT-like-JOIN-BEN-STAT
'that I it like' ('that I like it')
TN:35:285:24-25

There are also stress patterns which do not match that reconstructed for Proto-Lake

Iroquoian. For instance, Wyandot words can have ultimate stress:

(144) a.

éhé' nga’(

aha:dydh

a=-ha-dya-h
FACT-MASC,sg,AGT-chase-PUNC
'he her chases (after)' (‘he chases her’)
TN:02:069:26

aha-yg

aha:yé?

a=ha-yg=?
FACT-MASC,sg,AGT-see-PUNC
'he saw’

TN:23:170:56

ahgha¢

ah¢haq?

a=h¢=-ihaQ-?
FACT-MASC,sg,AGT-say-PUNC
'he said'

TN:24:194:11
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duka’*turl

dukya ?turih

d-u-at-Ya?t-uri=h
PART-FEM.ZOIC,sg,PAT-SEMI-body-cover-STAT
'that body covered' ('... that covered its body')
TN:29:260:29-30

hamg "dij’

hawediZu?

ha-wed=-iZu-?
MASC,sg,AGT-voice-good-STAT
'his voice (is) big'

TN:01:063:02b

Although stress placement is often consistent (see chart 5: Non-contrasting Patterns

of Length, Stress and Nasalization), stress can also be variable in Wyandot. That is, a given

word may appear with more than one stress pattern. In 145 primary stress is on the second

syllable in a, but on the third in b.

(145) a.

ahatg-"dute’®

ahdté:dutg?

a=-h-atedutq-?
FACT-MASC,sg,AGT-speak-PUNC
'he it told' (he told it)

TN:18:134:54

ahatg"dut’

ahaté:du:tq?

a=h-atedutg-?
FACT-MASC,sg,AGT-speak-PUNC
'he them tells’ (‘he told them")
TN:38:301:44

In 146 the three forms show stress on the second, third, and fourth syllables, although

the words are otherwise identical.
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(146) a. ahati-gaha’
ahdti:dyaha?
a-hati-dya-ha?
FACT-MASC,pl,AGT-eat-PUNC
'they eat'
TN:28:254:17

b. ahati"gaha
ahatidyaha
a-hati-dya-ha
FACT-MASC,pl,AGT-eat-PUNC
'they eat'
TN:03:076:22

c.  ahati"giha:
ahatidydha:
a-hati-dya=ha ,
FACT-MASC,pl,AGT-eat-PUNC
'(for) them to eat' ('they eat’)
TN:03:076:28

In 147a stress is shown on the second syllable, while 147b has stress on the fourth.

(147) a.  ahdtrg"dirte :
ahatredu:te?
a=h-atergd-ut-¢?
FACT-MASC,sg, AGT-SEMiI-song-stick.up-PUNC
'he sings'
TN:26:209:48

b.  ahatrg-"dit
ahatr¢:diite?
a=heat-rgdeut-¢?
FACT-MASC,sg, AGT-SEMI-song-stick.up-PUNC
'he sings’
TN:24:189:33
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The word for ‘the younger one' appears variously with antepenultimate, penultimate,

and ultimate stress:

(148) a.  déhu%kegie
dehihkenyé?
de-hu-hkenye?
SUBST-MASC,sg,PAT-younger.STAT
'the he is younger’ (‘the younger one')
TN:01:062:27

b. déhukgne’
dehuihkénye?
de-hu-hkenye?
SUBST-MASC,sg,PAT-younger.STAT
'the he is younger' (‘the younger one')
TN:01:062:21

c. déhukene
dehuhkenyé?
de-hu-hke¢nye?
SUBST-MASC,sg,PAT-younger.STAT
'the younger one’
TN:04:083:07

Example 149 shows stress either on the first syllable, as in a, or the fourth, as in b:

(149) a. hawateng'ro
hadwateng:ro
haw-atenqrq?
MASC,sg:1,sg-uncle. STAT
'uncle’
WM:250
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b. hawaténg-ro’®
hawatenq:rq?
haw-atenQro?
MASC,sg:1,sg-uncle.STAT
'my uncle’

TN:19:144:07

In 150 stress varies between penultimate and ultimate:

(150) a.  saha-Q
sahd:Q?
s=a=ha=YQ=-?
REP-FACT-MASC,sg, AGT-arrive-PUNC
again he comes (home)' (‘he comes home again')
TN:21:152:33

b. saha ¢’
saha:Q?
s=a=ha=-Yq=-?
REP-FACT-MASC,sg, AGT-arrive-PUNC
'back she gets (home)' ('she gets back home again’)
TN:23:179:01
As can be seen, primary stress is not clear-cut in Wyandot. Although many words
have consistent primary stress, many do not. Even among those that do, variant pattemns can
be found.
Secondary stress can sometimes replace primary stress. That is, in a given instance
of a word the location of primary stress may be the same as that for secondary stress in

another instance of the same word. In 151a primary stress is on the second syllable, while (b)

has secondary stress there instead.
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(151) a.

ahikakengt

ahdkya?kyemoh

a=h-at-Ya?t-Yenq-h

FACT-MASC,sg, AGT-SEMI-body-fall- PUNC
'he lay down'

TN:34:280:41

ahakaXkéno

ahakya?kyenq

a=h-at=-Ya?t-Yenq

FACT-MASC,sg, AGT-SEMI-body-fall. PUNC
'he lies down'

TN:12:112:42

In 152a the final syllable bears primary stress, while in b it has secondary stress instead:

(152) a.

déhiwé-y¢

dehiwé:yh

de=hi-wey=h
SUBST-MASC,dl,AGT-marry-STAT
'the his spouse’ (‘his wife')
TN:02:073:30

déhiwe-y¢

dehiwé:yh

de~hi~wey=h
SUBST-MASC,dl,AGT-marry-STAT
'the his wife' (‘his wife')
TN:28:255:23-24

The following remaining examples also all show an alternation between primary stress in a and

secondary stress in b:
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(153) a.

(154) a.

(155) a.

diré-he’

diré:he?

dier-che=?

PART-MASC,sg, AGT-think-STAT
'that he thought'

TN:24:192:29

dirréhe

dizréhe?

di-r-che=-?

PART-MASC,sg, AGT-think-STAT
'that he thought'

TN:26:206:06

hu™da-mg¢

hu?da:weh

hu-?d-awg=h
MASC,sg,PAT-arrow-have-STAT
'he arrows has' ('he has arrows')
TN:26:202:52

hw'"da mg¢

hu?di:weh

hu-?d-awe-h
MASC,sg,PAT-arrow-have-STAT
'he arrow has’ ('he has arrows'")
TN:26:202:40

sé "dikwari-ri¢

s¢dikwani:rih

s=¢d~-ikwar=ur~ih
2,5g,PAT-SEMI-quilt-cover-STAT

'thine quilt over (thine) face' (the quilt on your face')
TN:28:253:18

sg"dikwaru-ri¢

sedizkwari:rih

s=¢d-ikwar=-uri-h

2,58, PAT-SEMI-quilt-cover-IMP

‘thou quilts put over (thee)' (‘put on the quilt")
TN:28:252:50
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Just as primary stress is variable, so too is secondary stress. That is, two tokens of
the same word may appear with different placements of secondary stress. In 156 secondary
stress alternates between the second and third syllables, although primary stress remains

penultimate:

(156) a. déyayomg’a
deydyowé?a
de~yayq-Yg?a
SUBST-FEM.INDEF:NON.MASC,non.sg-child.STAT
~  'the her children’ ('her children)
TN:11:109:30-31

b. deyay¢'m§’a¢
deyayQ:wé2ah
de-yayq-Ye?ah
SUBST-FEM.INDEF:NON.MASC,non.sg-child.STAT
'the her children (little girls)' (her children’)
TN:23:177:38

Example 157 shows consistent ultimate primary stress, but secondary stress varying

between first and second syllables:

(157) a té’fie tén\
té?nygterih
te?=[ny]=-Yeteri=h
NEG-1,sg, AGT-know-STAT
'not I know’ (' don't know")
TN:24:184:27-28
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te’iigtent

teTny¢terih
te?=[ny]-Yeteri=h
NEG-1,5g,AGT-know-STAT
'not I know' ('I don't know')
TN:05:092:08

In 158 both a and b have final main stress, but a has antepenultimate secondary stress

while b has penultimate secondary stress:

(158) a.

tisaha'¢’

tusdha:g?

t-usa=ha~Yq~?
DU-REP.FACT-MASC,sg,AGT-arrive-PUNC
'there back he comes' (‘'he came back there')
TN:05:093:26-27

tisaha-¢’

tusaha:Q?

t-usa=ha-Yq-?
DU-REP.FACT-MASC,sg,AGT-arrive-PUNC
'there he arrived' ('he arrived there')
TN:05:092:42

In 159 primary stress on the antepenult, but differ in placement of secondary stress.

159a has secondary stress on the syllable before the primary, while b has secondary stress on

the syllable after the primary.

(159) a.

u‘catuha’

uhSdtuha?

u=h3aw-ha?
FEM.ZOIC,sg,PAT-sick-STAT
'she is sick’

TN:34:279:17
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b.  uCétiha
uh¥atiha?
u-hfau-ha?
FEM.ZOIC,sg PAT-sick-STAT
'she is sick’
TN:34:279:06

Next the placement of secondary stress varies between the first and second syllables:

(160) a. yangng<
ydnyengh
ya-nygnoh
FEM.ZOIC,sg,AGT-dog
' dog'
TN:13:118:42

b.  yahiénd<
yanygngth
ya-ny¢ngh
FEM.ZOIC,sg, AGT-dog
'(the) dogs’
TN:40:310:08
Since both primary and secondary stress can vary in placement unpredictably, they will

be indicated in the phonemicization.

2.18 Addendum

This phonemic analysis is assumed throughout the rest of the chapters. When phones
are specified, it should be assumed that they are phonemes rather than Barbeau's transcription.
Hence, the <bracket> and /slash/ conventions will not be used in later chapters, except in

those few cases where such a distinction is being discussed.
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